
Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk 

 
 

AUTOMATIC TENSIONERS TYPE TR 
 

Automatic tensioners type TR-TRP-TRR are automatic devices which allow you to keep the right chain drive tension so it can last longer. 
 
In addition they recover the stretching that the chain has little by little during its functioning so you can avoid noises and vibrations caused by its 
slackening. 
These automatic tensioners do not need the intervention of any worker so you can save time for the maintenance and for the control of the 
machineries on which they are  set up. 
The versatility  of the type TR is due to the possibility to change the loading lever  so it is possible to reach any height without loosing  rigidity. 
They get interchangeable  levers type ,110,111,115,118 for the type 1 and 210,218,227 for the type 2. 
These automatic tensioners are particular for the following elements :  
        -      Different types of levers made of zinc-coated steel which guarantees rigidity. 

- In both sense of rotation you need a tension angle of 45°. 
- There aren’t plastic materials so you can rich a temperature of 130°C  
( Type TCP with a polyethylene 1000 head can resist to a temperature of max 65°C.) 
- The internal elastic elements, made of special steel with a very high yielding limit and with a starting pre-tensioning, allow you 

to get a pressure excursion as much steady as possible. 
- You can set them up very easily as they can be fixed to the machinery  with an external or internal screws, and they have a 

back lock device to avoid rotation and they get also notches to lead the pre-loading and the unloading. 
- The high quality of the materials, the care in the execution, the simple functioning, the low prices made this product a 

practical, cheap  and safe one. 
 
So we have all the following elements: 

- Steady tension of the belt or chain drive 
- Noise reduction 
- Better efficiency of the transmission 
- Less wear and tear 
- Cheaper and easier to set up. 

 
Automatic tensioners type TR-PU and TR-PUG are devices with a pulley. With traditional systems when the belt is too tightened the 
transmission devices bearings work too hard and so when the belt grows longer you can have some slipping with relative damaging vibrations. 



• 

·~ ' 
··~ ' 

.. ' ·~ . 
'\ ' 

·:~ 

~ • 
·~ 

• 
' ~. 
~ 

ACCIAO ZINCATO 

/ 

ZINC-COATED, STEEL - 1 5 r 
ACIER ZINGUE 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO ,--......_ 

110 

co o 
TR1 
TR111065 
TR111085 
TR1 110105 
TR1 1101 25 
TR1 11185 
TR1 1111 05 
TR1 111125 
TR1 115105 
TR1 115125 
TR1 118105 
TR1118125 

• l 
l 

F"ARMA - :tTALV 

OR 
TON 

/ •• 

L 
.. ~ / 

.? ~ 
& .?· . . / ·.·) 

... v l 1\ . 
~ . . ' .·. v /:_ : 

-? ' .. 
/ • 

/ 
l; . / . . 

/ . l; 
/ 

. . 
l; . . . 

l; . . . 
Il . 

l; 

. . . 
1/ 

c 

• 

- 39 - --, 

115 118 
111 

L NEWTON c D (0) Kg 
MIN MAX 

x x x x x 0.417 
11 o 50 200 85 6,5 0,584 
11 o 50 200 85 8,5 0,584 
11 o 50 200 85 1 o ,5 0,584 
11 o 50 200 85 12,5 0,584 
1 1 1 50 210 80 8,5 0,581 
1 1 1 50 210 80 1 o ,5 0,581 
1 1 1 50 210 80 12,5 0,581 
115 30 175 100 10,5 0,632 
115 30 175 100 12,5 0,632 
118 30 175 100 1 o ,5 0,66 
118 30 175 100 12,5 0,66 

,....... 
~ .. 
'- " \., , ~ .. I 

~, 

" • , .. , 
• , , .. , .. .. .. 

ACCIAO ZINCATO 
ZINC-COATED STEEL 
ACIER ZINGUÉ 
ACERO CINCADO 

110 
ALLUMINIO 
ALUMINIUM 
ALUMINIO 

eOD 

TR1 
111065 
111085 

TR1110105 
1110125 
111185 

TR1111105 
1 1 1 1 1 

60° 

/ 

1/ 

" 
1/ 

111 

L 

X 
110 
110 
110 
110 
111 
111 
111 

; 

NEWTON 
MIN MAX 

X X 
50 200 
50 200 
50 200 
50 200 
50 210 
50 210 

1 

Parma ITALY 

OR 

39'- --,' i r"--~531--....,' I 

115 118 

e D (121) Kg 

X o 17 
85 o 
85 o 
85 o 
85 o 
80 o 
80 O, 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



' 

'0. ' ' • 

' • ' • • ' • ' • 

~s·.__~. !,._.. .. ---tts•/ 

\ 
• 
• 

• 

\ 

CD 
\ 
• 
• 

\ 
• 

• • 

\ t : ·. ~ l 
\ t : 
\ i t . .. . . .. l 

... 
\ 
• • 

• • 
l 
• • 

l 
• • 

l 

• • 
l 

• . 
J . . 

l . . 

.. .. « 
w .. 
l .. .. 
l 
•• .. 

/ 
/ 

/ 

/ 

.. 
l 

.l 
/ •• 

l 
~~' 

.. i 
i 

·' l ... 

. ./' 

L 

11~ 

111 

115 

11~ 

15° 

55 

o o 
3~ 
j~ 

! 
' 

NEWfON 
J~o ~50 

85 1J~ 

~o 1~~ 

o~ 1W 

oD 1W 

• 

\ 

• • 

' 

o~ o 

200 

2W 

175 

175 

\ 

o 
\ 

• 
\ 

• 
\ 

• • 
\ . 

• 
\ 

• • 
\ 

l 
• 
• 
l 
• • 

l 
• 
• 

l . 
• 

l 
• • 
l 
• • 

l . 
• 
l 

l 
• 
• 

l 
• 

ZE 
F»A~MA - :ITALY 

l 

l 

l 

l 

.. .. 
l .. 

•• 
l •• 

• • 
l .. .. 

l 
•• .. 

i 
•• .. 

l .. .. 
l .. 

•• 

l .. 
•• 

Parma ITALY 

S' o I o -IS' ---... 
I ., , 

I O~ --:30' • I \ • I 
I • • • • • 
• I • 

I • 
• , • 

• I I • , , 
I " : . • • 

" I \ I • • \ . " • 
' .~ • 

I I I 
~" • • • . , • • • 

I - I \ . I . 
• • • p..; . I • 

I I " " • 

K I • . • 

I I " " I • • 
• i I • " • " I 

I ! 
• " I • • 

I 
I " " 

I 
" 

I 
• 

I -, . 
• ..-----• 4S' I 
I • 

• • I • 

I o • 60' • • I • , 
I ~, • 

• / • I / / 
• 
I 

, , 
• "-/ • • I • , 

I • • • I • 

I 
'c~) 

...... / • • • 
.' / \ I • 

I \ . . 

I 
• 

• • • 
• / " ." I , 
• 

I \ • 
/ • 

• I • , 
I / • 

• 
/ I 

/ 

/ 
• 

"- / • • 

" / • 

" " 

l 
NEWlON 

15° )]0 ~5° ffio 

110 55 85 130 ~O 

111 60 00 HO 210 

115 30 ffi 110 115 

118 30 ffi 110 115 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



\ 
' • ' . . \ . 

\ . . 
\ . 

\ 
• . 
\ . . 

~ 

i '. ) . ·< -.. 
\ 

\ 
\ 

\ 

/ 
.. ._, 

'• . ...... . • 

OR 

. ...... 

l 

l 

l . 
\ l 

\ l l ·\, o: ;1. 
\ . l . . . . 

\ : l 

2 10 

COD 

TR2 

TR2210105 

TR2210125 
. . -

TR2218105 

TR2218125 

TR2227125 

/ 

( l ~ 
.: / 
["-" 

. 
l . 

l . . 

L 

x 
210 

210 

218 

218 

227 

....... 

l -
l . . 

. . 
J 
-

l 

l . 

. 
l 

l 
l 

\ 

ACCIAO ZINCATO 
ZINC-COATED STEEL , 
ACIER ZINGUE 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

2 18 

NEVVTON 
MIN MAX 
x x 

120 480 

120 480 
. . . . 

120 480 

120 480 

120 380 

PARMA - I:TAL..Y 

... 

~ 

Ili:_ 
t 

22 7 

c D (0) K~ 

x x 01833 

100 10 5 l 11168 

100 1215 11168 
- . . 

100 1 o 15 11199 

100 12,5 1,199 

130 12,5 1 A76 

, 

~" / . , , 
/ 

, 
.. -\ , , , , - ( 

\ , , 
\ 

, 
\ 

, 
\ , 

. , , 
\ 
• 

, I 

\ \ I , I , 

3 

210 

eoo 

TR2 
TR2210105 
TR2210125 
TR2218105 
TR2218125 
TR2227125 

NEIJTON 

.... . -. 
, 

. , 
I , 
,-/ 

I 

I 

I 

/ 

L 

X 

210 
210 
218 
218 
227 

I 

" • J 
. 

I 
• 

I 

I 

I 

I 

-_ .. 

ACCIAO ZINCATO 
ZINC-COATED STEEL 
ACIER ZINGUÉ 
ACERO 

"I 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

218 

NEWTON 
MIN MAX 
X X 

120 480 
120 480 
120 480 
120 480 
120 380 

ITALY 

,----~7S--_, 

7 .. I I 

6 -, 
.....: 

227 

e 0(0) Kg 

X X 0,833 
100 10,5 1,168 
100 12,5 1,168 
100 10,5 1,199 
100 12,5 1,199 
130 12,5 1,476 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



15._.__ _ _, .. ~11""'-----..t15. 

~ l ~ 
\ l . . 
\ 
• • 

. . 
\ . . 

. 

' . • 

• • l . . l 
l. , •. -...... : 

···~ ~ l ...... . .. ... ......_. 
l / i ·. 

~--~.. J 

l 
• • 

: . \ . 
\ l : l • ·. : "' .. ..,.. l 

• • • 
l l . 
• • • 

\ l J l . . l \ . • 

• • 

. . 

.. -.. 

\ l ! 
\ : i . l . 

O i <D 

• • . l . . . 
l • \ • • l • . . 

l \ • • 
l 

' • ' 
' 
(;) 

. 
l 

45 

' ' ' • 

' 

/ 

L 

. -
l 
• • 
l -• 
l 
• • 

210 
218 
227 

15° 
270 
270 
150 

l 
• • 
l 
• • 
l . 
• 
l 
• • 
l 
• • 
l 
• • 
l 
• • 
l 
• . 
l 
• • 
l . 
• 
l 
• • 
l 

• 
l . 
• 
l 
• • 
l 

NE\IVTON 
30° 
380 
380 
270 

\ 

\ 
• 
\ 

\ 

. 
• 

l 

• • 

' • 

45. 

/ 

/ 
~, · .... 

·. "'·. / ' '• ' .· ·. " 'L 
'· !> ' )1.,..'- ·. . ' .,, ' ·. '\. .. ' •, ·, ·. " . ' '• ., ·. " " ' . 

. . 
' ' 

45° 
480 
480 
380 

l 
• • 
l 
• • 
l 
• • 
l 
• • 
l 
• • 
l 
• • 
l 
• • 
l 
• • 
l 
• • 

• • 
l 
• • 
l 
• • 
l 

• • 

··' , 
• • ·' • ··' , ,.· 

• • , 

ZE 
F»A~MA - :ITALY 

l 

/ ........ •• l ' . ...... #, • , ~ .. 
..... . ' , l •• 

.• ' , . · . .. -y, 
: . \ .,,. ~ . ·. J 
\ .' : ._,... ·. . / - ,.. .. • • 

l , 

l . 

. 
• 
\ 

l 

l 

l 
• • 

l • • 
l • • 

l • • 

. 
\ 

• • 
\ 
, 
\ 

• 
\ . 
\ 

. 
I 
• , 

".,-"""' ..... , , ...... 

I 

. 
\ 
• , 

I 
.. ~ '" . ' . . . \ 

\ I .­
'. : / ..,. 
. 

I 
• 

I . 

45 
./' 

L 

210 
218 
227 

15° 
270 
270 
150 

• • 

I 

NEWTON 
30° 
380 
380 
270 

Parma ITALY 

0,.---- -1----. o' 

45' 

45° 
480 
480 
380 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



NE 

• • 

' . . . .. . ·.. . ~ '* :1 

(
·:· ·, .... . 

.,...,. • ~o • , . . . ~ 
: i ' \ ': \. . . ~ .. ~ . . .... , .. 

~ . ·~ .. 
' • 

' 
•• 

-~ .. , 
'-· -~ 

•• 

• 

' • • 

-~. 
-~ 

. : 

' • ' 

ACCIAO ZINCATO 
ZINC-COATED STEEL 
ACIER ZINGUÉ 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

110 

l 
• • 

• . 
l 
• . 
l 
• . 
l 
• 
• 

l 
• • 

l 
• • 

.... 
M 

! •• • •• •• 

l 
M M - M 

l l - ~ i 

i~ ) 

TESTA OVALE 
OVAL HEAD 
CABEZAOVAL .... 
TETE OVALE 

OR 
\./TDN 

5 

l 

J 

tjl 

!,o 

7 

/ 

1/ 
1/ .. .. 

.... 
M 

J 

111 

POLIETILENE 
POLYETHYLENE 
POLYÉTHYLÈNE 
POLIETILENO 

J19 l 

l 7.7 
2.5 

.. .. 

n-.. , .. .. -
• l , .. ,. .. 
l l - " M M 

l l 

-s~ 

----39 

115 

ZE 
PARMA - :tTALY 

,-----~3+------. ... , 

118 

1--.. -_ ._. ~1- .. ·· - ·· ·- ·· - ~ ··- ·· - ·· ·· - · ..... _-_ .. _ ~* ··- ··-··- ··- ·· ··- ·· ·-··- ~ .. -

, 

• 

. ~-, 
~ • 

'" . 

, 
, 

• .. 
• • .. 

' .. 

, 

... .... 

ACCIAO ZINCATO 
ZINC-COATED STEEL 
ACIER ZINGUÉ 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

110 

, 
• 

I 
• 
• 

I · • 

I · • 

TESTA OVALE 
OVAL HEAD 
CABEZAOVAL 
TETE OVALE 

POLIETILENE 

-
" , ,, ' ' .. / ; ' /t. ,;" l~ ' ) ,... " 

- 5 ,.-

111 

• 
• 

115 

Parma ITALY 

OR 

r'--~53 ' I 

118 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TRP1110 

NEWTON PASSO CATENA P CATENA 

COO CHAIN PITCH 8 c D E L Kg COO CHAIN PITCH 8 c D E L Kg 
PASO DE LA CADENA PASO DE LA CADENA MIN MAX A A 

PAS DE LA CHAINE PAS DE LA CHAINE 
TRP1110T01 038S 318" x 7 132" 0681 20 34 70 10 85 0,676 TRP1110T010ASA35S ASA35 06C.1 20 34 70 10 85 0,677 
TRP1110T01 0380 318" x 7/32" 0682 20 34 70 10 85 0,676 TRP1110T01 OASA350 ASA35.2 06C.2 20 34 70 10 85 0,677 
TRP1110T01 012S 1/2" x 5/16" 0881 20 34 70 10 85 0,676 TRP1110T01 OASA40S ASA40 08A.1 20 34 70 10 85 0,677 
TRP1110T01 0120 1/2" x 5/16" 0882 20 34 70 10 85 0,676 TRP1110T01 OASA400 ASA40.2 08A.2 25 34 70 10 85 0,69 
TRP1110T02058S 518" x 318" 1081 22 44 90 14 85 0711 TRP1110T020ASA50S ASA50 10A.1 22 44 90 14 85 071 

50 200 TRP1110T020580 518" x 318" 1082 25 44 90 14 85 0728 TRP1110T020ASA500 ASA50.2 10A.2 30 44 90 14 85 0719 
TRP1110T02034S 3/4 Il x 7/16" 1281 22 44 90 14 85 0711 TRP1110T020ASA60S ASA60 12A.1 22 44 90 14 85 072 
TRP1110T020340 3/4 Il x 7/16" 1282 30 44 90 14 85 0736 TRP1110T030ASA80S ASABO 16A.1 25 54 110 18,5 85 0758 
TRP1110T0301 S 1" x 17 m\m 1681 25 54 11 o 18,5 85 0766 TRP1110T030ASA 100S ASA100 20A.1 25 54 110 18,5 85 0758 
TRP1110T030114S 1"1/4 x 3/4" 2081 25 54 11 o 18,5 85 0766 TRP1110T030ASA 120S ASAS120 24A.1 25 54 110 18,5 85 0758 
TRP1110T030112S 1"1/2 x 1" 2481 25 54 11 o 18,5 85 0766 l 

TRP1111 

NEWTON PASSO CATENA PASSO CATENA 

COO CHAIN PITCH 8 c D E L Kg COO CHAIN PITCH 8 c D E L Kg 
PASO DE LA CADENA PASO DE LA CADENA MIN MAX A A 

PAS DE LA CHAINE PAS DE LA CHAINE 
TRP1111T01 038S 318" x 7 132" 0681 20 34 70 10 80 0,673 TRP1111T01 OASA35S ASA35 06C.1 20 34 70 10 80 0755 
TRP1111T01 0380 318" x 7132" 0682 20 34 70 10 80 0,673 TRP1111T010ASA350 ASA35.2 06C.2 20 34 70 10 80 0755 
TRP1111T01 012S 1/2" x 5/1 6" 0881 20 34 70 10 80 0,673 TRP1111T01 OASA40S ASA40 08A.1 20 34 70 10 80 0755 
TRP1111T01 0120 1/2" x 5/16" 0882 20 34 70 10 80 0,673 TRP1111T01 OASA400 ASA40.2 08A.2 25 34 70 10 80 0768 
TRP1111T02058S 5/8"x3/8" 1081 22 44 90 14 80 0708 TRP1111T020ASA50S ASA50 10A.1 22 44 90 14 80 0788 

50 210 TRP1111T020580 518" x 318" 1082 25 44 90 14 80 0725 TRP1111T020ASA50D ASA50.2 10A.2 30 44 90 14 80 0797 
TRP1111T02034S 3/4" x 7/16" 1281 22 44 90 14 80 0708 TRP1111T020ASA60S ASA60 12A.1 22 44 90 14 80 0798 
TRP1111T020340 3/4 Il x 7/16 Il 1282 30 44 90 14 80 0733 TRP1111T030ASA80S ASABO 16A.1 25 54 110 18,5 80 0,836 
TRP1111T0301 S 1" x 17 m\m 1681 25 54 11 o 18,5 80 0763 TRP1111T030ASA 100S ASA100 20A.1 25 54 11 o 18,5 80 0,836 
TRP1111T030114S 1"1/4 x 3/4 Il 2081 25 54 110 18,5 80 0763 TRP1111T030ASA 120S ASAS120 24A.1 25 54 11 o 18,5 80 0,836 
TRP1111T030112S 1"1/2 x 1" 2481 25 54 11 o 18,5 80 0763 l 

TRP1115 

NEWTON PASSO CATENA PASSO CATENA 

COO CHAIN PITCH 8 c D E L Kg COO CHAIN PITCH 8 c D E L Kg 
PASO DE LA CADENA PASO DE LA CADENA MIN MAX A A 

PAS DE LA CHAINE PAS DE LA CHAINE 
TRP111'5T01 038S 318" x 7 132" 0681 20 34 70 10 100 0724 TRP1115T01 OASA35S ASA35 06C.1 20 34 70 10 100 0725 
TRP1115T01 0380 318" x 7132" 0682 20 34 70 10 100 0724 TRP1115T01 OASA35D ASA35.2 06C.2 20 34 70 10 100 0725 
TRP1115T01 012S 1/2" x 5/16" 0881 20 34 70 10 100 0724 TRP1115T01 OASA40S ASA40 08A.1 20 34 70 10 100 0725 
TRP1115T01 0120 1/2" x 5/16" 0882 20 34 70 10 100 0724 TRP1115T01 OASA400 ASA40.2 08A.2 25 34 70 10 100 0738 
TRP1115T02058S 518" x 318 Il 1081 22 44 90 14 100 0759 TRP1115T020ASA50S ASA50 10A.1 22 44 90 14 100 0758 

30 175 TRP1115T020580 518" x 318" 1082 25 44 90 14 100 0776 TRP1115T020ASA500 ASA50.2 10A.2 30 44 90 14 100 0767 
TRP1115T02034S 3/4 Il x 7 /1 6" 1281 22 44 90 14 100 0759 TRP1115T020ASA60S ASA60 12A.1 22 44 90 14 100 0768 
TRP1115T020340 3/4 Il x 7/16 Il 1282 30 44 90 14 100 0784 TRP1115T030ASA80S ASABO 16A.1 25 54 110 18,5 100 0,806 
TRP1115T0301 S 1" x 17 m\m 1681 25 54 11 o 18,5 100 o ,814 TRP1115T030ASA 100S ASA100 20A.1 25 54 110 18,5 100 0,806 
TRP1115T030114S 1"1 /4 x 3/4" 2081 25 54 11 o 18,5 100 o ,814 TRP1115T030ASA 120S ASAS120 24A.1 25 54 11 o 18,5 100 0,806 
TRP1115T030112S 1"1/2 x 1" 2481 25 54 110 18,5 100 0,814 l 

TRP1118 

NEWTON PASSO CATENA PASSO CATENA 

COO CHAIN PITCH 8 c D E L Kg COO CHAIN PITCH 8 c D E L Kg 
PASO DE LA CADENA PASO DE LA CADENA MIN MAX A A 

PAS DE LA CHAINE PAS DE LA CHAINE 
TRP1118T01 038S 318" x 7132" 0681 20 34 70 10 100 0752 TRP1118T01 OASA35S ASA35 06C.1 20 34 70 10 100 0753 
TRP1118T01 0380 318" x 7132" 0682 20 34 70 10 100 0752 TRP1118T01 OASA350 ASA35.2 06C.2 20 34 70 10 100 0753 
TRP1118T01 012S 1/2" x 5/16" 0881 20 34 70 10 100 0752 TRP1118T01 OASA40S ASA40 08A.1 20 34 70 10 100 0753 
TRP1118T01 0120 1/2" x 5/16" 0882 20 34 70 10 100 0752 TRP1118T01 OASA400 ASA40.2 08A.2 25 34 70 10 100 0766 
TRP1118T02058S 518" x 318" 1081 22 44 90 14 100 0787 TRP1118T020ASA50S ASA50 10A.1 22 44 90 14 100 0786 

30 175 TRP1118T02058D 518" x 318 Il 1082 25 44 90 14 100 0,804 TRP1118T020ASA500 ASA50.2 10A.2 30 44 90 14 100 0795 
TRP1118T02034S 3/4" x 7/16" 1281 22 44 90 14 100 0787 TRP1118T020ASA60S ASA60 12A.1 22 44 90 14 100 0796 
TRP1118T020340 3/4 Il x 7/16 Il 1282 30 44 90 14 100 0,812 TRP1118T030ASA80S ASABO 16A.1 25 54 11 o 18,5 100 0,834 
TRP1118T0301 S 1" x 17 m\m 1681 25 54 11 o 18,5 100 0,842 TRP1118T030ASA 100S ASA100 20A.1 25 54 110 18,5 100 0,834 
TRP1118T030114S 1"1 l 4 x 3/4 Il 2081 25 54 11 o 18,5 100 0,842 TRP1118T030ASA 120S ASAS120 24A.1 25 54 110 18,5 100 0,834 
TRP1118T030112S 1"1/2 x 1" 2481 25 54 11 o 18.5 100 0,842 l 

NEVlfTON 
PASSO CATENA 

COD 
CHAIN PITCH 

8 c D E 
MIN MAl< --,-,-,=:..::..:..:C::..::ADENA 

038S 0681 20 34 70 10 
0380 3/8" x 7 f32" 0682 20 34 70 10 
012S 112" x 5/16" 0881 20 34 70 10 
0120 112" x 5/16" 0882 20 34 70 10 

44 14 
50 200 

3/4" x 7/16" 1281 22 44 90 14 
3/4" x 7116" 1282 30 44 90 14 
1" x17mlm 1681 25 54 110 
1"1/4 x3/4" 2081 25 54 110 

0112S 1"1I2 x1 " 2481 25 54 110 

NEVlfTON 
PASSO CATENA 

COD CHAIN PITCH 
8 C D E 

MIN MAl< 
PAS DE LA 

038S 3/8" x 7 f32" 0681 20 34 70 10 
0380 3/8" x 7 f32" 0682 20 34 70 10 
012S 112" x 5/16" 0881 20 34 70 10 

1 x 0882 20 70 10 
5/8" x 3/8" 1081 22 44 90 14 

50 210 
3/4" x 7/16" 1281 22 44 90 14 
3/4" x 7116" 1282 30 44 90 14 

01S 1" x17mlm 1681 25 54 110 
0114S 1"1/4 x 3/4" 2081 25 54 110 
0112S 1"1I2x1 " 2481 25 54 110 

NEVlfTON 
PASSO CATENA 

COD CHAIN PITCH 
8 C D E 

MIN MAl< 
PAS DE LA 

038S 3/8" x 7 f32" 0681 20 34 70 10 
0380 3/8" x 7/32" 0682 20 34 70 10 
012S 112" x 5/16" 0881 20 34 70 10 

x 22 44 14 
30 175 5/8" x 3/8" 1082 25 44 90 14 

3/4" x 7/16" 1281 22 44 90 14 
3/4" x 7/16" 1282 30 44 90 14 

01S 1" x17mlm 1681 25 54 110 
0114S 1"1/4 x 3/4" 2081 25 54 110 

1"1I2x1" 2481 25 54 110 

NEWTON 
PASSO CATENA 

COD CHAIN PITCH 
8 C D E 

MIN MAl< 
PAS DE LA 

038S 3/8" x 7 f32" 0681 20 34 70 10 
0380 3/8" x 7/32" 0682 20 34 70 10 
012S 112" x 5/16" 0881 20 34 70 10 

44 
30 175 5/8" x 3/8" 1082 25 44 90 14 

3/4" x 7/16" 1281 22 44 90 14 
3/4" x 7/16" 1282 30 44 90 14 
1" x17mlm 1681 25 54 110 
1 
1"1I2x1" 2481 25 54 110 

TRP1110 ....... _____ ----..,.....--r-- _..,..... ....... __ 

L Kg COD 

85 O, OASA35S 
85 O, OASA35D 
85 O, OASA40S 
85 O, OASA40D 

85 O, 
85 O, 
85 O, 
85 O, 
85 O, 

111 

L Kg COD 

80 O, 1T010ASA35S 
80 O, 1T010ASA35D 
80 O, 1T010ASA40S 
80 
80 

80 O, 1T020ASA60S 
80 O, 1T030ASA80S 
80 O, 1T030ASA 100S 
80 O, 1T030ASA 120S 
80 O, 

L Kg COD 

100 O, OASA35S 
100 O, OASA35D 
100 O, OASA40S 

100 
100 
100 
100 
100 
100 

L Kg COD 

100 O, OASA35S 
100 O, OASA35D 
100 O, OASA40S 

100 O, 
100 O, 
100 O, 
100 O, 

100 

P CATENA 

CHAIN PITCH 

ASA35 06C.1 
ASA35.2 06C.2 
ASA40 08A1 
ASA40.2 08A2 

1 1 
1 

ASAGO 12A1 
ASASO 16A1 
ASA100 20A1 
ASAS120 24A1 

PASSO CATENA 

CHAIN PITCH 

PAS DE LA 

ASA35 06C.1 
ASA35.2 06C.2 
ASA40 08A1 

08A2 
10A1 
1 

ASA60 12A1 
ASASO 16A1 
ASA100 20A1 

ASAS120 24A1 

PASSO CATENA 

CHAIN PITCH 

PAS DE LA 

ASA35 06C.1 
ASA35.2 06C.2 
ASA40 08A1 

1 1 
ASA50.2 10A2 
ASA60 12A1 
ASASO 16A1 
ASA100 20A1 

ASAS120 24A1 

PASSO CATENA 

CHAIN PITCH 

PASDE 

ASA35 06C.1 
ASA35.2 06C.2 
ASA40 08A1 

1 1 
ASASO.2 10A2 
ASA60 12A1 
ASASO 16A1 
ASA100 20A1 

8 C D E L Kg 

20 34 70 10 85 
20 34 70 10 85 
20 34 70 10 85 
25 34 70 10 85 

44 14 
44 

22 44 90 14 85 
25 54 110 18, 85 
25 54 110 18, 85 
25 54 110 18, 85 

8 C D E L Kg 

20 34 70 IO 80 
20 34 70 10 80 
20 34 70 10 80 
25 34 70 80 
22 44 90 14 80 

22 44 90 14 80 
25 54 110 18, 80 
25 54 110 18, 80 
25 54 110 18, 80 

8 C D E L Kg 

20 34 70 10 100 
20 34 70 10 100 
20 34 70 10 100 

22 44 14 
30 44 90 14 100 
22 44 90 14 100 
25 54 110 18, 100 
25 54 110 18, 100 
25 54 110 18, 100 

8 C D E L Kg 

20 34 70 10 100 
20 34 70 10 100 
20 34 70 10 100 

44 14 
30 44 90 14 100 
22 44 90 14 100 
25 110 18, 100 
25 110 18, 100 

1 , 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



. • 
' 

ACCIAO ZINCA TO 
ZINC-COATED STEEL 
ACIER ZINGUÉ 
ACERO CINCADO 

110 
ALLUMINIO 
ALUMINIUM 
ALUMINIO 

NEWTON 
COD 

MIN MAX 

TRP1110T01T38S 
TRP1110T01T38D 
TRP1110T01T38T 
TRP1110T01T12S 
TRP1110T01T12D 
TRP1110T01T12T 
TRP1110T02T58S 
TRP1110T02T58D 

50 200 TRP1110T02T58T 
TRP1110T02T34S 
TRP1110T02T34D 
TRP1110T02T34T 
TRP1110T03T1S 
TRP1110T03T1D 
TRP1110T03T114S 
TRP1110T03T112S 

PASSO CATENA 
CHAIN PITCH 

PASO DE LA CADENA 
• PAS DE LA CHAINE 

318" x 7 (32" 0681 
318" x 7 (32" 0682 
318" x 7 (32" 0683 
112" x 5/16" 0881 
112" x 5/16" 0882 
112" x 5/16" 0883 
518" x 318" 1081 
518" x 318" 1082 
518" x 3/8" 1083 
3/4" x 7/16" 1281 
3/4" x 7/16" 1282 
3/4" x 7/16" 1283 
1" x 17 m\m 1681 
1" x 17 m\m 1682 
1 "1 /4 x 3/4" 2081 
1"112 x 1" 2481 

TESTA TONDA 
ROUND HEAD 
CABEZA REDONDA .... 
TETE RONDE 

POLI ETILENE 
POLYETHYLENE 
POLYÉTHYLÈNE 

6Q 0 POLIETILENO 

.. 

- -- -l l - -- -

111 

8 c D 

20 34 70 
20 34 70 
26 34 70 
20 34 70 
20 34 70 

34 34 70 
22 44 90 
25 44 90 

41 44 90 
22 44 90 
30 44 90 
49 44 90 
25 54 11 o 
46 54 11 o 
25 54 11 o 
25 54 11 o 

- s.--

' .. . 
• 

.. 

J 19 

J .... l 7.7 
.... 2.5 

- -39- ---. 

115 

J B 
fl- ·· • ' - • 

• l • ' • • 
l l - -- -l l - -- -l l .. 

_,...., 5 

ri • . ~ 

!- ~ 
' ~ 

'"'" 
""'" 

... 

TRP1110 

E L Kg COD 

10 85 o 1110T01TASA35S 
10 85 o TRP1110T01TASA35D 
10 85 o 1110T01TASA35T 
10 85 o TRP1110T01TASA40S 
10 85 o TRP1110T01TASA40D 
10 85 o 701 TRP1110T01TASA40T 
14 85 o 711 TRP1110T02TASA50S 
14 85 o 728 P1110T02TASA50D 
14 85 o 766 TRP1110T02TASA50T 
14 85 o 711 1110T02TASA60S 
14 85 o 736 TRP1110T02TASA60D 
14 85 o 786 TRP1110T02TASA60T 

18 85 o 766 TRP1110T03TASA80S 
18 85 o TRP1110T03TASA80D 
18 85 o 766 TRP1110T03TASA80T 
18,5 85 0,766 TRP1110T03TASA 100S 

TRP1110T03TASA 1000 
1110T03TASA120S 

PAFiitMA - :ITALY 

, ~ 25 15 

1 

... ., l 

.. a ........ 

,.. B 
r1 Il 
, -··- ~· · , ... , .. 
• l l l "' ... , .. 

J • 
l , .. . .. ... 

• l l l 
, ~ 

1-

118 

PASSO CATENA 
CHAIN PITCH 

PASO DE LA CADENA 
• PAS DE LA CHAINE 

AS.A35 06C.1 
AS.A35.2 06C.2 
AS.A35.3 06C.3 
ASA40 08A.1 

ASA40.2 08A.2 
ASA40.3 08A.3 
ASA50 10A.1 

ASA50.2 10A.2 
ASA50.3 10A.3 
ASA60 12A.1 

ASA60.2 12A.2 
ASA60.3 12A.3 
ASASO 16A.1 

ASA80.2 16A.2 
ASA80.3 16A.3 
ASA100 20A.1 

ASA100.2 20A.2 
ASAS120 24A.1 

, .. , .. "' .. , .. 
• l l l 
• • , • 

• l , ' , • 

-, 
l , , 

• • 
l 
' ' 

!-

l l .. l l IO t: 

8 c 

20 34 
20 34 

24 34 
20 34 
25 34 
36 34 
22 44 
30 44 

44 44 
22 44 

34 44 
57 44 
25 54 

44 54 
73 54 
25 54 
54 54 
25 54 

~ 

... 

J 

D E L 

70 10 85 
70 10 85 
70 10 85 
70 10 85 
70 10 85 
70 10 85 
90 14 85 
90 14 85 
90 14 85 
90 14 85 
90 14 85 
90 14 85 

11 o 18 85 
11 o 18 85 
11 o 18 85 
11 o 18,5 85 
11 o 18 85 
11 o 18 85 

' 

Kg 

o 
o 
o 
o 
o 

o 
o 
o 

o 777 
o 711 
07 
o 
o 
o 
o 
0,7 
o 
o 

, ~ 
• ' .. '*. ' . 

(' 
,_ o " 

' .. c', , 
\ . ". , .--, 

\.~~'" 
, 

• , 
• 

':. '\ , 
" , 
~ , 

ACCIAO ZINCATO 
ZINC·COATED STEEL 
ACIER ZINGUÉ 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

110 

. ... _. ::::::: 

NEWTON 

MIN MAX 

50 200 

COD 

110T01T38S 
1 

110T03T112S 

· 
I 
• 
• 
I 

TESTA TONDA 
ROUND HEAD 
CABEZA REDONDA -TETE RONDE 

POLIETllENE 
POLYETHYLENE 
POl YETHYlENE 

600 POLIETILENO 

.'" / ., O" 

~ / . 
('~ 
/-

/ 

/ ' r: #" 

/ .~ . ' 
• , 

# • • • .' , • • • I I 
• • 

I 
• • 

MI2-

115 
111 

.. _ .. _ .. _ .. _ .. :=. ::: 

8 c D E L Kg COD 

Parma ITALY 

B • 

! 

118 

.-

8 c D E L Kg 

PAS DE LA 

110T01TASA35S ASA35 20 34 70 10 _85::;--1-"":=1 

34 
44 

44 
44 

2481 25 54 110 

10 
14 

14 
14 

34 10 
44 14 

44 14 
44 14 

85 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TRP1111 

NEVVTON PASSO CATENA PASSO ENA 

COO CHAIN PITCH 8 c D E L Kg COO CHAIN PITCH 8 c D E L Kg 
PASO DE LA CADENA PASO DE LA CADENA MIN MAX A A 

PAS DE LA CHAINE PAS DE LA CHAINE 
TRP1111T01T38S 318" x 7 f32" 0681 20 34 70 10 BO 0,673 TRP1111T01TASA35S ASA35 06C.1 20 34 70 10 BO 0,755 
TRP1111T01T380 318" x 7 f32" 0682 20 34 70 10 BO 0,673 TRP1111T01TASA350 ASA35.2 06C.2 20 34 70 10 BO 0,755 
TRP1111T01T38T 318" x 7 f32" 0683 26 34 70 10 BO 0,6B4 TRP1111T01TASA35T ASA35.3 06C.3 24,4 34 70 10 BO 0,76 
TRP1111T01T12S 1/2" x 5/16" OB81 20 34 70 10 BO 0,673 TRP1111T01TASA40S ASMO OBA.1 20 34 70 10 BO 0,755 
TRP1111T01T120 1/2" x 5/16" 0882 20 34 70 10 BO 0,673 TRP1111T01TASA400 ASM0.2 OBA.2 25 34 70 10 BO 0,76B 
TRP1111T01T12T 1/2" x 5/16" OB83 34,5 34 70 10 BO 0,69B TRP1111T01TASA40T ASM0.3 OBA.3 36 34 70 10 BO 0,7B7 
TRP1111T02T58S 518"x318" 1081 22 44 90 14 BO 0,70B TRP1111T02TASA50S ASA50 10A.1 22 44 90 14 BO 0,7BB 
TRP1111T02T580 518" x318" 1082 25 44 90 14 BO 0,725 TRP1111T02TASA500 ASA50.2 10A.2 30 44 90 14 BO O,B1B 

50 210 TRP1111T02T58T 518"x318" 1083 41 ,5 44 90 14 BO 0,763 TRP1111T02TASA50T ASA50.3 10A.3 44 ,B 44 90 14 BO O,B55 
TRP1111T02T34S 3/4 Il x 7/16 Il 1281 22 44 90 14 BO 0,70B TRP1111T02TASA60S ASA60 12A.1 22 44 90 14 BO 0,7B9 
TRP1111T02T340 3/4 Il x 7/16 Il 1282 30 44 90 14 BO 0,733 TRP1111T02TASA600 ASA60.2 12A.2 34,B 44 90 14 BO O,B21 
TRP1111T02T34T 3/4" x7/16" 1283 49 44 90 14 BO 0,7B3 TRP1111T02TASA60T ASA60.3 12A.3 57,6 44 90 14 BO 0,901 
TRP1111T03T1S 1" x 17 m\m 1681 25 54 110 1B,5 BO 0,763 TRP1111T03TASA80S ASABO 16A.1 25 54 110 1B,5 BO O,B36 
TRP1111T03T10 1" x 17 m\m 1682 46 54 110 1B,5 BO O,B37 TRP1111T03TASA800 ASA80.2 16A.2 44 ,3 54 110 1B,5 BO o ,911 
TRP1111T03T114S 1"1/4 x 3/4" 2081 25 54 110 1B,5 BO 0,763 TRP1111T03TASA80T ASA80.3 16A.3 73,6 54 110 18,5 BO 1,05 
TRP1111T03T112S 1"1/2 x 1" 2481 25 54 110 1B,5 BO 0,763 TRP1111T03TASA 100S ASA100 20A.1 25 54 110 18,5 BO O,B36 

TRP1111T03TASA 1000 ASA100.2 20A.2 54 54 110 1B,5 BO 0,957 
TRP1111T03TASA 120S ASAS120 24A.1 25 54 110 1B,5 BO O,B36 

l 

TRP1115 

NEVVTON PASSO CATENA PASSO CATENA 

COO CHAIN PITCH 8 c D E L Kg COO CHAIN PITCH 8 c D E L Kg 
PASO DE LA CADENA PASO DE LA CADENA MIN MAX A A 

PAS DE LA CHAINE PAS DE LA CHAINE 
TRP1115T01T38S 318" x 7 f32" 0681 20 34 70 10 100 0,724 TRP1115T01TASA35S ASA35 06C.1 20 34 70 10 100 0,725 
TRP1115T01T380 318" x 7 f32" 0682 20 34 70 10 100 0,724 TRP1115T01TASA350 ASA35.2 06C.2 20 34 70 10 100 0,725 
TRP1115T01T38T 318" x 7 f32" 0683 26 34 70 10 100 0,735 TRP1115T01TASA35T ASA35.3 06C.3 24,4 34 70 10 100 0,73 
TRP1115T01T12S 1/2" x 5/16" OB81 20 34 70 10 100 0,724 TRP1115T01TASA40S ASMO OBA.1 20 34 70 10 100 0,725 
TRP1115T01T120 1/2" x 5/16" OB82 20 34 70 10 100 0,724 TRP1115T01TASA400 ASM0.2 OBA.2 25 34 70 10 100 0,73B 
TRP1115T01T12T 1/2" x 5/16" OB83 34,5 34 70 10 100 0,749 TRP1115T01TASA40T ASM0.3 OBA.3 36 34 70 10 100 0,757 
TRP1115T02T58S 518" x318" 1081 22 44 90 14 100 0,759 TRP1115T02TASA50S ASA50 10A.1 22 44 90 14 100 0,75B 
TRP1115T02T580 518"x318" 1082 25 44 90 14 100 0,776 TRP1115T02TASA500 ASA50.2 10A.2 30 44 90 14 100 0,7BB 

30 175 TRP1115T02T58T 518" x318" 1083 41 ,5 44 90 14 100 o ,B14 TRP1115T02TASA50T ASA50.3 10A.3 44 ,B 44 90 14 100 O,B25 
TRP1115T02T34S 3/4 Il x 7/16 Il 1281 22 44 90 14 100 0,759 TRP1115T02TASA60S ASA60 12A.1 22 44 90 14 100 0,759 
TRP1115T02T340 3/4" x 7/16" 1282 30 44 90 14 100 0,784 TRP1115T02TASA600 ASA60.2 12A.2 34,B 44 90 14 100 0,791 
TRP1115T02T34T 3/4 Il x 7/16 Il 1283 49 44 90 14 100 O,B34 TRP1115T02TASA60T ASA60.3 12A.3 57,6 44 90 14 100 O,B71 
TRP1115T03T1S 1" x 17 m\m 1681 25 54 110 18,5 100 o ,814 TRP1115T03TASA80S ASABO 16A.1 25 54 110 18,5 100 0,806 
TRP1115T03T10 1" x 17 m\m 1682 46 54 110 1B,5 100 0,88B TRP1115T03TASA800 ASA80.2 16A.2 44 ,3 54 110 1B,5 100 0,8B1 
TRP1115T03T1US 1"1/4 x 3/4" 2081 25 54 110 1B,5 100 o ,814 TRP1115T03TASA80T ASA80.3 16A.3 73,6 54 110 18,5 100 1,02 
TRP1115T03T112S 1"1/2 x 1" 2481 25 54 110 1B,5 100 O,B1 4 TRP1115T03TASA100S ASA100 20A.1 25 54 110 1B,5 100 O,B06 

TRP1115T03TASA 1000 ASA100.2 20A.2 54 54 110 18,5 100 0,927 
TRP1115T03TASA 120S ASAS120 24A.1 25 54 110 1B,5 100 O,B06 

l 

TRP1118 

NEVVTON PASSO CATENA PASSO CATENA 

COO CHAIN PITCH 8 c D E L Kg COO CHAIN PITCH 8 c D E L Kg 
PASO DE LA CADENA PASO DE LA CADENA MIN MAX A A 

PAS DE LA CHAINE PAS DE LA CHAINE 
TRP1118T01T38S 318" x 7 f32" 0681 20 34 70 10 100 0,752 TRP1118T01TASA35S ASA35 06C.1 20 34 70 10 100 0,753 
TRP1118T01T380 318" x 7 f32" 0682 20 34 70 10 100 0,752 TRP1118T01TASA350 ASA35.2 06C.2 20 34 70 10 100 0,753 
TRP1118T01T38T 318" x 7 f32" 0683 26 34 70 10 100 0,763 TRP1118T01TASA35T ASA35.3 06C.3 24,4 34 70 10 100 0,75B 
TRP1118T01T12S 1/2" x 5/16" OB81 20 34 70 10 100 0,752 TRP1118T01TASA40S ASMO OBA.1 20 34 70 10 100 0,753 
TRP1118T01T120 1/2" x 5/16" OB82 20 34 70 10 100 0,752 TRP1118T01TASA400 ASM0.2 OBA.2 25 34 70 10 100 0,766 
TRP1118T01T12T 1/2" x 5/16" OB83 34,5 34 70 10 100 0,777 TRP1118T01TASA40T ASM0.3 OBA.3 36 34 70 10 100 0,7B5 
TRP1118T02T58S 518"x318" 1081 22 44 90 14 100 0,787 TRP1118T02TASA50S ASA50 10A.1 22 44 90 14 100 0,7B6 
TRP1118T02T580 518" x 318 Il 1082 25 44 90 14 100 0,804 TRP1118T02TASA500 ASA50.2 10A.2 30 44 90 14 100 O,B16 

30 175 TRP1118T02T58T 518" x 318 Il 1083 41,5 44 90 14 100 O,B42 TRP1118T02TASA50T ASA50.3 10A.3 44 ,B 44 90 14 100 O,B53 
TRP1118T02T34S 3/4 Il x 7/16 Il 1281 22 44 90 14 100 0,7B7 TRP1118T02TASA60S ASA60 12A.1 22 44 90 14 100 0,7B7 
TRP1118T02T340 3/4 Il x 7/16 Il 1282 30 44 90 14 100 o ,B12 TRP1118T02TASA600 ASA60.2 12A.2 34,B 44 90 14 100 O,B19 
TRP1118T02T34T 3/4 Il x 7/16 Il 1283 49 44 90 14 100 O,B62 TRP1118T02TASA60T ASA60.3 12A.3 57,6 44 90 14 100 O,B99 
TRP1118T03T1 S 1" x 17 m\m 1681 25 54 110 1B,5 100 O,B42 TRP1118T03TASA80S ASABO 16A.1 25 54 110 1B,5 100 O,B34 
TRP1118T03T10 1" x 17 m\m 1682 46 54 110 1B,5 100 o ,916 TRP1118T03TASA800 ASA80.2 16A.2 44 ,3 54 110 1B,5 100 0,909 
TRP1118T03T114S 1"1/4 x 3/4" 2081 25 54 110 1B,5 100 O,B42 TRP1118T03TASA80T ASA80.3 16A.3 73,6 54 110 1B,5 100 1,04B 
TRP1118T03T112S 1"1/2 x 1" 2481 25 54 110 1B,5 100 O,B42 TRP1118T03TASA 100S ASA100 20A.1 25 54 110 1B,5 100 O,B34 

TRP1118T03TASA 1000 ASA100.2 20A.2 54 54 110 1B,5 100 0,955 
TRP1118T03TASA 120S ASAS120 24A.1 25 54 110 1B,5 100 O,B34 

NEWTON 
PASSO CATENA 

(OD CHAIN PITCH 

MIN MAX 
PASO DE LA CADENA 

ll1T01T12D 112' x 5/16" 0882 
l11T01T12T 112' x 5/16" 0883 
ll1T02T58S 5/8' 3/8" 
l11T02T58D 5/8' x 3/8" 

50 210 l11T02T58T 3/8" 1083 
l11T02T34S 3/4' x 7/16" 1281 

1'112 x 1" 

NEWTON 
(OD CHAIN PITCH 

MIN MAX 
PASO DE LA CADENA 

0883 
5/8' x 1081 
5/8' x 3/8" 1082 

30 175 
5/8'x3/8" 1083 
3/4' x 7/16" 1281 
3/4' x 7/16" 1282 

NEWTON 
PASSO CATENA 

(OD 
PASO DE LA CADENA 

MIN MAX • 
PAS DE LA CHANE 

118T01T38S 3/8' x 7/32" 0681 

5/8' x 3/8" 1081 
5/8' x 3/8" 1082 

30 175 
3/4' x 7/16" 1281 

118T02T34D 3/4' 7/16" 1282 
118T02T34T 3/4' x 7/16" 1283 

8 c 

44 
44 
44 
44 
44 

8 C 

34 
44 
44 

41 44 
22 44 
30 44 

44 

8 C 

20 34 

22 
25 

4 44 
44 

30 44 
49 44 

D E 

70 
70 
90 14 
90 14 
90 14 
90 14 

1 1 
110:-t-:-

D E 

70 10 
90 14 
90 14 
90 14 
90 14 
90 14 

D E 

10 

14 
90 14 
90 
90 

TRPllll-r-_____ ,.-____ ----r--r-- ----r--r-­
PASSO ENA 

CHAIN PITCH (OD 8 c D E L Kg 
PASO DE LA CADENA 

L Kg 

80 O, 11T01TASA40D ASA40.2 08A2 25 34 70 10 80 
80 O, 11T01T ASA40T ASA40.3 08A3 36 34 70 10 80 
BO O, 11T02TASA50S ASA50 10Al 22 44 90 14 80 

O, 1 D 44 14 80 
O, 44 1 80 
O, 44 14 BO 

80 O, 11T03TASA100S ASAloo 25 
~11T03TASA100D ASA1OD.2 

TRPll15-r-_____ -r-____ --r----r'- --r----r'-

CHAIN PITCH (OD 8 c D E L Kg 
PASO DE LA CADENA 

L Kg 

100 O, ASA40.3 08A3 36 34 70 10 100 
100 O, 10Al 22 44 90 14 100 
100 O, ASASO.2 30 44 90 14 100 
100 10A3 44 90 14 1 
100 AS.A60 12Al 44 90 14 100 
100 ASAGO.2 12A2 44 90 14 100 

4 1 

15T03T ASA 120S ASAS120 "::':;":..:...L.-=....L...:..;....L..';';':;'" "':=..J....;.;;:::..I..:: = 

PASSO CATENA 

L Kg (OD 8 C D E L Kg 
PASO DE LA CADENA 

PASDE LA 

18T01TASA35S ASA35 20 10 100 
D 1 1 

100 ASA50 10Al 44 14 100 
100 ASASO.2 10A2 44 14 100 

18T02TASA50T 44, 44 14 1 
18T02TASA60S AS.A60 12Al 44 90 14 100 

100 18T02TASA60D ASAGO.2 12A2 90 100 
100 18T02T ASA60T ASA6O.3 12A3 90 100 

54 
18T03TASA1 20S ASAS120 24Al 25 54 110 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



. 
\ 

\ 

6 

l r-· .. , .. 
l • , .. 

~ 
• .. 
l -.. 

l 
.. 

LJj l .. 

' 
.. 
l .. .. 

' ! L'-fj 

Li. . ..t 
l 

7 
M1~,/ 

/ • -
\ • -\ • • 

\ --
\ 
• • 
\ -• 
\ • -

\ 

• 
;• 

• 

\ ' . • • -·· . '( 
• • 
\ 

• • 
\ 

,..J 

• • 
\ 

.. l 

- ·. .. • l .,... : 

··" 
,. 

•• 

·' • 
l • • 

l . 
• 
l 
• • 
l • 

'"l 
l 

J ~ 
:J19 

1.1 
'---2.5 

• • 
l 
• • 
l 
• • 
l 
• . 

. ..... ., 
·-' 

~ • 
~· •' , 

• • 
\ 

•• 

• • 
\ 

• 
l -• 

l 

• .. 
\ 

\ l 
• • 

• . 
\ . 

• 
\ 

• • 
\ 

• • 
\ 

• . 
l 

-• 
l 

• • 
l • • 

l • • 
l 

TESTA OVALE 
OVALHEAD 
CABEZAOVAL .... 
TETE OVALE 

l r··,_ __ .r· l .. .. .. .. • .. .. 
l • .. 
l .. .. • .. .. 

l 
• • 

.. .. 
l l .. • .. • • l .. • .. .. 
l l c .. .. .. , 

• l .. .. 

l 

POLI ETILENE 
POLYETHYLENE 

~---;---- POL YÉTHYLÈNE 

• . 
J .. . 

l .. .. 
l 
• -

l • • 
l -• 

l 
• • 

l -• 
l • • 

POLIETILENO 
3 -. - · 

6 - - r--· 

210 
-----

il 

PAFiitMA - :ITALY 

1 .5 

2 .5 

ACCIAO ZINCATO 
ZINC-COATED STEEL 
ACIER ZINGUÉ 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

4& 

2 18 

1-

• • 

\ 
• • 
\ 
• • 
\ 
• • 
\ 

• • 
\ 

• • 
\ • • 

\ 
• • 
\ 
• • 

I 

I 

- 6 7 

I .. B • 

, 

TESTA OVALE 
OVAL HEAD 
CABEZAOVAL 

A 

TETE OVALE 

I 

f ··l-·.r 
• 
I • • 
I • 

:;J 19 

• 
I • • 
I 
• 

J • 

0---1 ---45' ........ 

-
\ 

• 
• 

• • 

• 
• • 

• • 
I I 
• • • • 
I I 
• • • • 
I c • • 
I • • 

POLIETILENE 
, __ POL Y~THYL~NE 

--1- POL YETHYLENE 

• 

J 
• • 

I 
• • 

I 
• 

• 

I 
• • 

I 
• • 

I 
• • 

I 
• 

I 
• • 

POLIETILENO 6 ·-

2 10 

Parma 

ACCIAO ZINCATO 
ZINC·COATED STEEL 
ACIER ZINGUÉ 
ACERO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

ITALY 

46 -

6 .., -

2 18 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



• 

ZE 
PARMA - :tTALY 

TRP2 210 

NEVVTON PASSO CATENA 

COD CHAIN PITCH 8 c D E Kg 
PASO DE LA CADENA MIN MAX "' PAS DE LA CHAINE 

TRP2210T02058S 518 11 x 318 11 1081 22 44 90 14 1,295 
TRP2210T02058D 5/BIIx3/8" 1082 25 44 90 14 1,312 
TRP2210T02034S 3/4" x 7/16" 1281 22 44 90 14 1,295 
TRP2210T02034D 3/4 Il x 7/16 Il 1282 30 44 90 14 1,32 
TRP2210T0301 S 1" x 17 m\m 1681 25 54 11 o 18,5 1,35 
TRP2210T030114S 1"1 l 4 x 3/4 Il 2081 25 54 11 o 18,5 1,35 

120 480 TRP2210T030112S 1"1/2 x 1" 2481 25 54 11 o 18,5 1,35 
TRP2210T020ASA50S ASA50 10A.1 22 44 90 14 1,294 
TRP2210T020ASA50D ASA50.2 10A.2 30 44 90 14 1,303 
TRP2210T020ASA60S ASA60 12A.1 22 44 90 14 1,304 
TRP2210T030ASA80S AS.ABO 16A.1 25 54 110 18,5 1,342 
TRP2210T030ASA100S ASA100 20A.1 25 54 11 o 18,5 1,342 
TRP2210T030AS.A120S ASAS120 24A.1 25 54 11 o 18 ,5 1,342 

TRP2 218 

NEVVTON PASSO CATENA 

COD CHAIN PITCH 8 c D E Kg 
PASO DE LA CADENA MIN MAX "' PAS DE LA CHAINE 

TRP2218T02058S 518 Il x 318" 1081 22 44 90 14 1,326 
TRP2218T02058D 5/B"x318" 1082 25 44 90 14 1,343 
TRP2218T02034S 3/4 Il x 7 /16" 1281 22 44 90 14 1,326 
TRP2218T02034D 3/4" x 7/16" 1282 30 44 90 14 1,351 
TRP2218T0301 S 1" x 17 m\m 1681 25 54 11 o 18,5 1,381 
TRP2218T030114S 1"1/4 x 3/4" 2081 25 54 11 o 18,5 1,381 

120 480 TRP2218T030112S 1"1/2 x 1" 2481 25 54 11 o 18,5 1,381 
TRP2218T020ASA50S ASA50 10A.1 22 44 90 14 1,325 
TRP2218T020ASA50D ASA50.2 10A.2 30 44 90 14 1,334 
TRP2218T020ASA60S ASA60 12A.1 22 44 90 14 1,335 
TRP2218T030AS.A80S ASABO 16A.1 25 54 11 o 18 5 l 1,373 
TRP2218T030ASA100S ASA100 20A.1 25 54 110 18 ,5 1,373 
TRP2218T030ASA 120S ASAS120 24A.1 25 54 11 o 18,5 1,373 

Parma ITALY 

TRP2210 

NEWTON 
PASSO CATENA 

COD CHAIN PITCH 
8 C D E Kg 

PASO DE LA CADENA 
MIN MAX • 

PAS DE LA CHAINE 

TRP2210T02058S 5/8" x 3/8" 1081 22 44 90 14 1 ,295 
TRP2210T02058D 5/8" x 3/8" 1082 25 44 90 14 1 ,312 
TRP2210T02034S 3/4" x 7/16" 1281 22 44 90 14 1,295 
TRP2210T02034D 3/4" x 7/16" 1282 30 44 90 14 1,32 
TRP2210T0301 S 1" x 17 m\m 1681 25 54 110 18,5 1,35 
TRP2210T030114S 1 "1/4 x 3/4" 2081 25 54 110 18,5 1,35 

120 480 TRP2210T030112S 1"1/2 x 1" 2481 25 54 110 18,5 1,35 
TRP2210T020ASA50S AS.A5o lOA.l 22 44 90 14 1,294 
TRP2210T020ASA50D AS.A5o.2 1 DA. 2 30 44 90 14 1,303 
TRP2210T020ASA60S ASA60 12A.l 22 44 90 14 1,304 
TRP2210T030ASA80S ASASo 16A.l 25 54 110 18,5 1,342 
TRP2210T030ASA 100S ASAloo 2oA.l 25 54 110 18,5 1,342 
TRP2210T030ASA 120S ASAS120 24A.l 25 54 110 18,5 1,342 

TRP2218 

NEWTON 
PASSO CATENA 

COD CHAIN PITCH 
8 C D E Kg 

PASO DE LA CADENA 
MIN MAX • 

PAS DE LA CHAINE 

TRP2218T02058S 5/8" x 3/8" 1081 22 44 90 14 1,326 
TRP2218T02058D 5/8" x 3/8" 1082 25 44 90 14 1 ,343 
TRP2218T02034S 3/4" x 7/16" 1281 22 44 90 14 1,326 
TRP2218T02034D 3/4" x 7/16" 1282 30 44 90 14 1 ,351 
TRP2218T0301 S 1" )( 17 m\m 1681 25 54 110 18,5 1 ,381 
TRP2218T030114S 1 "1/4 x 3/4" 2081 25 54 110 18,5 1 ,381 

120 480 TRP2218T030112S l"l/2 x l" 2481 25 54 110 18,5 1 ,381 
TRP2218T020ASA50S AS.A5o loA.l 22 44 90 14 1,325 
TRP2218T020ASA50D AS.A5o.2 loA.2 30 44 90 14 1,334 
TRP2218T020ASA60S ASA60 12A.l 22 44 90 14 1,335 
TRP2218T030ASA80S ASASo 16A.l 25 54 110 18,5 1,373 
TRP2218T030ASA 100S ASAloo 2oA.l 25 54 110 18,5 1,373 
TRP2218T030ASA 120S ASAS120 24A.l 25 54 110 18,5 1,373 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



. 
\ 

\ 

- ·. .. • l .,... . . 
/ 

•• .·' 
, , . 

•• 

l • • 
l . 

• 
l 
• • 
l • 

--6 --

,. 
• • 

\ -.. 
\ -• 
\ 

• • 
\ 

• • 

l .... 

M1~,/ 

~ \ . 
• • -·· . ( 

• • 

' • . ' • • \ 
• -\ 

• 
• 
\ -• 

\ -• 

' 
' 

.. l .. l 
-;,-----. 

\ • • 

' . • ' • • 

...... ] "' 
CH 19 ...... ] 

• 
• 
l 
• • 
l 
• • 
l 
• • 

• . 
l 
• 
• 

l 

TESTA TONDA 
ROUND HEAD 
CABEZA REDONDA 

"" TETE RONDE 

. ..... ., 
•• 

' • • \ 

l 
• • 

, •• ,; 
• 

• • 
l 

• • 

• • 
\ • • 

l 
• • 

• 

- 6 --

f .. l-.. -f' 
i ì i 
# .. # 
# .. # 

l • l 
# .. # 
# .. # 

l l l 
# .. .. 
# .. .. 

• • l 
.. # .. .. 

l 

c 

l 

POLI ETILENE 
~----+-~ POL YETHYLENE 

POLYÉTHYLÈNE 

•• 

l ' ·... "' r- ·· 
• • 

l . 
• 

l 
• 

-.. 
l 
• • 

l 
• • 

l 
• • 

l 
• • 

l -• 
l 
• • 

l 
• • 

POLIETILENO 

l • • 

' l 
• • 
\ 

• • 
l o 

f'i=.~r 

ZE A'-' 
PAFiitMA - :ITALY 

OR~ 

ft 

6 - - r--· 

210 
.._ 

-- __ ""~ !"'--

il 

1 .5 

2 .5 

ACCIAO ZINCATO 
ZINC-COATED STEEL 
ACIER ZINGUÉ 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

1-

4& 

218 

• 

\ 
• • 
\ 

• • , 
• • 
\ 

• 
• 

\ 
• • , 

• • 
\ --, 

-• 

• 

, 

I 

I 

--" 6 -

- _ E i 

:;J 19 

J 

TESTA TONDA 
ROUND HEAD 
CABEZA REDONDA -TETE RONDE 

r ··l-·,r 
i i i • • • 

i i i • • • 

i i i • • • • • • 
I t I • • • 

i i i 
• • • 
LLl.: 

c 

45°---'-~-

• 
• 

I 

I 

I 
• • -- / r' 

POLI ETILENE 
é---- POL YETHYLENE 

POLYÉTHYLÉNE 
POLIETILENO ... •• 

" • • J -• 
I 
• • 

I 
• • 

I 
• 
• 

I 
• 
• 

I 
• 
• 

I 
• -

I -• 

Parma 

OR----

r"l-.. -f·l-.. -f" 
# • ~ • • 

I I I I I 
# .. , • , .. . . 
I I I t 
• • • • 
j ! j ! 
! ! ! ! ! 
I ì j ì j 
• • • • • 

L..l....Ll. .. .l: .. 

(; --

21 0 

ACCIAO ZINCATO 
ZINC-COATED STEEL 
ACIER ZINGUÉ 
ACERO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

ITALY 

46 -
6 .., -

2 18 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



l 
J l J 
l 

l 
·. 

J 

PARMA - :tTALY 

TRP2 210 

NEWTON PASSO CATENA 

COD CHAIN PITCH 8 c D E Kg 
PASO DE LA CADENA MIN MAX "' PAS DE LA CHAINE 

TRP2210T02T58S 518" ){ 318" 1081 22 44 90 14 1 L ~G 

TRP2210T02T58D 518" ){ 318" 1082 25 44 90 14 1 1312 
TRP2210T02T58T 518" ){ 318" 1083 41 15 44 90 14 1 ........ 
TRP2210T02T34S 3/4" ){ 7/16" 1281 22 44 90 14 1 L ~G 

TRP2210T02T34D 3/4" ){ 7/16" 1282 30 44 90 14 1 .i/ 
TRP2210T02T34T 3/4" ){ 7 /16" 1283 49 44 90 14 1 1:3/ 
TRP2210T03T1 S 1" x 17 m\m 1681 25 54 110 18 15 1 ........ 
TRP2210T03T1 D 1" x 17 m\m 1682 46 54 110 1815 1.424 
TRP2210T03T114S 1"1 /4 ){ 3/4" 2081 25 54 11 o 1815 1 .... .... 
TRP2210T03T112S 1"112 ){ 1" 2481 25 54 11 o 1815 1 .... .... 
TRP2210T02TASA50S ASA50 10A.1 22 44 90 14 1 L'~l! 

120 480 TRP2210T02TASA50D ASA50.2 10A.2 30 44 90 14 1 .i ).4 

TRP2210T02TASA50T ASA50.3 10A.3 4418 44 90 14 1 1 
TRP2210T02TASA60S ASA60 12A.1 22 44 90 14 1 L 

,,... 

TRP2210T02TASA60D ASA60.2 12A.2 3418 44 90 14 1 .i}_/ 

TRP2210T02TASA60T ASA60.3 12A.3 5716 44 90 14 1.407 
TRP2210T03TASA80S ASABO 16A.1 25 54 110 1815 1 1.4? l . 

TRP2210T03TASA80D ASA80.2 16A.2 4413 54 110 18 15 1 .417 
TRP2210T03TASA80T ASA80.3 16A.3 7316 54 110 18 15 1 C.l.. . l. 

TRP2210T03TASA 100S ASA100 20A.1 25 54 110 18 15 1 1.4? l . 

TRP2210T03TASA100D ASA100.2 20A.2 54 54 110 18 15 1.463 
TRP2210T03TASA100T ASA100.3 20A.3 90 54 110 1815 1 h 

TRP2210T03TASA120S ASAS120 24A.1 25 54 110 18 15 1 1.4? l . 

TRP2210T03TASA120D ASA120.2 24A.2 70 54 110 18 15 1 ~: 

TRP2 218 

NEVVTON PASSO CATENA 

COD CHAIN PITCH 8 c D E Kg 
PASO DE LA CADENA MIN MAX "' PAS DE LA CHAINE 

TRP2218T02T58S 518 Il ){ 318 Il 1081 22 44 90 14 1 1326 
TRP2218T02T58D 518" ){ 318" 1082 25 44 90 14 1 1343 
TRP2218T02T58T 518" ){ 318" 1083 41 15 44 90 14 1 1381 
TRP2218T02T34S 3/4" ){ 7/16" 1281 22 44 90 14 1 1326 
TRP2218T02T34D 3/4" ){ 7/16" 1282 30 44 90 14 1 1351 
TRP2218T 02T34 T 3/4" ){ 7/16" 1283 49 44 90 14 1 .401 
TRP2218T03T1 S 1" x 17 m\m 1681 25 54 11 o 18 15 1 1381 
TRP2218T03T1 D 1" x 17 m\m 1682 46 54 11 o 18 15 1.455 
TRP2218T03T114S 1 "1 /4 ){ 3/4 Il 2081 25 54 11 o 18 15 1 1381 
TRP2218T03T112S 1 "1 12 ){ 1 Il 2481 25 54 11 o 1815 1 1381 
TRP2218T02TASA50S ASA50 10A.1 22 44 90 14 1 1325 

120 480 TRP2218T02TASA50 D ASA50.2 10A.2 30 44 90 14 1 1355 
TRP2218T02TASA50T ASA50.3 10A.3 44,8 44 90 14 1 1392 
TRP2218T02TASA60 S ASA60 12A.1 22 44 90 14 1 1326 
TRP2218T02TASA60 D ASA60.2 12A.2 34,8 44 90 14 1 1358 
TRP2218T02TASA60T ASA60.3 12A.3 57,6 44 90 14 1.438 
TRP2218T03TASA80 S ASABO 16A.1 25 54 11 o 18,5 1 1373 
TRP2218T03TASA80 D ASA80.2 16A.2 44,3 54 11 o 18,5 1.448 
TRP2218T03TASA80T ASA80.3 16A.3 73,6 54 11 o 18 ,5 1 1587 
TRP2218T03TASA100S ASA100 20A.1 25 54 11 o 18 15 1 1373 
TRP2218T03TASA100D ASA100.2 20A.2 54 54 11 o 18,5 1.494 
TRP2218T03TASA 100T ASA100.3 20A.3 90 54 11 o 18,5 1 1667 
TRP2218T03TASA 120S ASAS120 24A.1 25 54 11 o 1815 1 1373 
TRP2218T03TASA120D ASA120.2 24A.2 70 54 11 o 1815 1 15~ : L 

. 

Parma ITALY 
TRP2210 

-4 
NEVVTON 

PASSO CATENA 

COO 
CHAIN PITCH 

8 C D E Kg 
PASO DE LA CADENA 

MIN MAX • 
PAS DE LA CHAINE 

TRP2210T02T58S 518" x 318" 1081 22 44 90 14 1 ,29~-t 
TRP2210T02T580 518" x 318" 1082 25 44 90 14 1 ,312 
TRP2210T02T58T 518" x 318" 1083 41 ,5 44 90 

-t 
14 1,35 

TRP2210T02T34S 3/4" x 7/16" 1281 22 44 90 14 1 ,29~-t 
TRP2210T02T340 3/4" x 7/16" 1282 30 44 90 14 1,32 
TRP2210T02T34T 3/4" x 7/16" 1283 49 44 90 14 1 ,3~-t 
TRP2210T03T1 S 1" x 17 m\m 1681 25 54 110 18 ,5 1 ,3~-t 
TRP2210T03T10 1" x 17 m\m 1682 46 54 110 18 ,5 1,424 
TRP2210T03T114S 1 "1/4 x 3/4" 2081 25 54 110 18 ,5 1 ,3~-t 
TRP2210T03T112S 1"1I2 x1" 2481 25 54 110 18,5 1 ,3~-t 
TRP2210T02TASASOS ASA50 10A1 22 44 90 14 1 ,29~ 
TRP2210T02TASA500 ASA50.2 10A2 30 44 90 14 

120 480 1 ,32~ 
TRP2210T02TASA.50T ASA50.3 10A3 44,8 44 90 14 1 ,361:i 
TRP2210T02TASA60S ASA60 12A1 22 44 90 14 1 ,29~-t 
TRP2210T02TASA600 ASA60.2 12A2 34,8 44 90 14 1 ,32~-t 
TRP2210T02TASA60T ASA60.3 12A3 576 44 90 14 1 ,40~-t , 
TRP2210T03TASA80S ASABO 16A1 25 54 110 18 ,5 1 ,34~-t 
TRP2210T03TASA800 ASABO.2 16A2 44,3 54 110 18,5 1 ,41~-t 
TRP2210T03TASA80T ASABO.3 16A3 73,6 54 110 18 ,5 1 ,55~-t 
TRP2210T03TASA100S ASA100 20A1 25 54 110 18,5 1 ,34~-t 
TRP2210T03TASA1000 ASA100.2 20A2 54 54 110 18,5 1 ,46~-t 
TRP2210T03TASA100T ASA100.3 20A3 90 54 110 18,5 1 ,63~-t 
TRP2210T03TASA120S ASAS120 24A1 25 54 110 18 ,5 1 ,34~-t 
TRP2210T03TASA1200 ASA120 .2 24A2 70 54 110 18 ,5 1 .538~ 

., 
TRP2218 

-4 
N EVVTO N 

PASSO CATENA 

COO 
CHAIN PITCH 

8 C D E Kg 
PASO DE LA CADENA 

MIN MAX • 
PAS DE LA CHAINE 

TRP2218T02T58S 518" x 318" 1081 22 44 90 14 1,326 
TRP2218T02T580 518" x 318" 1082 25 44 90 14 1,343 
TRP2218T02T58T 518" x 318" 1083 41,5 44 90 14 1 ,381 
TRP2218T02T34S 3/4" x 7/16" 1281 22 44 90 14 1,326 
TRP2218T02T340 3/4" x 7/16" 1282 30 44 90 14 1 ,351 
TRP2218T02T34T 3/4" x 7/16" 1283 49 44 90 14 1 ,401 
TRP2218T03T1 S 1" x 17 m\m 1681 25 54 110 18,5 1 ,381 
TRP2218T03T10 1" x 17 m\m 1682 46 54 110 18,5 1,455 
TRP2218T03T114S 1 "1/4 x 3/4" 2081 25 54 110 18,5 1 ,381 
TRP2218T03T112S 1"1I2 x1" 2481 25 54 110 18,5 1 ,381 
TRP2218T02TASASOS ASA50 10A1 22 44 90 14 1,325 

120 480 
TRP2218T02TASASOO ASA50 .2 10A2 30 44 90 14 1,355 
TRP2218T02TASASOT ASA50 .3 10A3 44,8 44 90 14 1,392 
TRP2218T02TASA60S ASA60 12A1 22 44 90 14 1,326 
TRP2218T02TASA600 ASA60.2 12A2 34,8 44 90 14 1,358 
TRP2218T02TASA60T ASA60 .3 12A3 57,6 44 90 14 1,438 
TRP2218T03TASA80S ASABO 16A1 25 54 110 18,5 1,373 
TRP2218T03TASA800 ASABO.2 16A2 44,3 54 110 18,5 1,448 
TRP2218T03TASA80T ASABO.3 16A3 73,6 54 110 18,5 1,587 
TRP2218T03TASA100S ASA100 20A1 25 54 110 18,5 1,373 
TRP2218T03TASA 1000 ASA100.2 20A2 54 54 110 18,5 1,494 
TRP2218T03TASA 100T ASA100.3 20A3 90 54 110 18,5 1,667 
TRP2218T03TASA120S ASAS120 24A1 25 54 110 18,5 1,373 

... ... TRP2218T03TASA1200 ASA120.2 ... 24A2 ... 70 54 ... 110 ... 18,5 1,569 .. 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



60 

'· .~ ... . ·.o . ~ . 
. ~ ·c~ 

··-=-- . . ~ 
: i ' \ .... ( ·.· ·, -· -..;:,:. 

\ ·.: ~. ........ , ·:~ . ~. 

··~ ' ·: 

·:~ ' 
\ .. 

·~ .· 
·~ .· 

·~ 

\ . . . . 

ACCIAO ZINCATO 

' ' 

ZINC-COATED_STEEL -1 5 
ACIER ZINGUE 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO ,......_ 

110 

ZE 
PA~MA - J:TALV 

PULEGGE (NYLON , ALLUMINIO , ACCIAIO ZINCATO) 
PULLEY (NYLON , ALUMINUM , ZINC-COATED STEEL) , 
POULIE (NYLON , ALUMINIUM , ACIER ZINGUE ) 
POLEA (NAILON , ALUMINIO , ACERO CINCADO) 

/ 

OR 

111 

/ 
/ 

. . .. 
4 

• • • • 

~E'v/TON 

/ 

1/ 
/ 

/ · . . . 

4 

.. 
1/ .. 

1/ 

n-··-··-··-··-··-··-·· 
n r J-.-1 

rn 
••• . Il 

H1 
~~ 

• • • • 

Il . . . . 
u.. ··-··-.. -. ·-·.-··-----

--'39 

115 

..----,.-+<,5 

118 

~:. 
'l­

.:~ 

\. 

ACCIAO ZINCATO 
ZINC-COATED STEEL 
ACIER ZINGUÉ 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

110 

-. .. - .. 

Parma ITALY 
PULEGGE (NYLON ,ALLUMINIO, ACCIAIO ZINCATO) 
PULLEY (NYLON , ALUMINUM , ZINC-COATED STEEL ) , 

POULlE (NYLON , ALUMINIUM , ACIER ZINGUE ) 
POLEA (NAILON, ALUMINIO , ACERO CINCADO ) 

/ 

/ 

/ 
/ 

/ . 
il 

• 

1/ 

OR 

111 

. _.. _. 

• •• • 

I I 

• • • 
I I I 
•• • 

u.. ,_,,_. __ ._ .. _ ._ . ..u 

115 

.. _ .. _ .. _ .. _ .... _ .. 

I I A • I 
------ ----, 

118 

.-

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TR1 PU 110 

COD 
NEVVTO N 

A 8 81 82 83 c Q (0) Kg 
MIN MAX 

TR1 PU1103035AC 35 MB B 1 15 2 15 B5 30 0 1729 
TR1 PU1103035AL 35 MB B 115 2 15 B5 30 0 1674 
TR1 PU1103035NY 35 MB B 1 15 2 15 B5 30 0 1657 
TR1 PU1104045 NY 45 M10 10 2 6 B5 40 0 1764 
TR1 PU1105050AC 50 M12 12 2 15 2 15 B5 50 11229 
TR1 PU1105050AL 50 M12 12 2 15 2 15 B5 50 0 1921 
TR1 PU1105050NY 50 M12 12 2 15 2 15 B5 50 OIB24 
TR1 PU1106060AC 50 200 60 M12 12 2 15 2 15 B5 60 11731 
TR1 PU1106060AL 60 M12 12 2 15 2 15 B5 60 111 34 
TR1 PU1106060NY 60 M12 12 2 15 2 15 B5 60 OIB79 
TR1 PU1108080AC BO M12 12 25 l 2 15 B5 BO 3 1296 
TR1 PU1108080AL BO M12 12 2 15 2 15 B5 BO 11744 
TR1 PU1108080NY BO M12 12 2 15 2 15 B5 BO 11219 
TR1 PU1108090AC 90 M12 12 2 15 2 15 B5 BO 3 1737 
TR1 PU1108090AL 90 M12 12 2 15 2 15 B5 BO 11917 
TR1 PU1108090NY 90 M12 12 2 ,5 2 ,5 B5 BO 11309 

TR1 PU 111 

COD NEVVTO N 
A 8 81 82 83 c Q (0) Kg 

MIN MAX 
TR1 PU111 3035A C 35 MB B 1 15 2 15 BO 30 0 1726 
TR1 PU1113035AL 35 MB 8 1 15 2 15 BO 30 0 1671 
TR1 PU1113035NY 35 MB 8 1 15 2 15 BO 30 0 1654 
TR1 PU1114045 NY 45 M10 10 2 6 BO 40 0,761 
TR1 PU1115050AC 50 M12 12 2 15 2 15 BO 50 11226 
TR1PU1115050AL 50 M12 12 2 15 2 15 BO 50 0 191B 
TR1 PU11150'50NY 50 M12 12 2 15 2 15 BO 50 OIB21 
TR1 PU1116060AC 50 210 60 M12 12 2 15 2 15 BO 60 1172B 
TR1 PU1116060AL 60 M12 12 2 15 2 15 BO 60 1 11 31 
TR1 PU1116060NY 60 M12 12 2 15 2 15 BO 60 OIB76 
TR1 PU1118080AC BO M12 12 2 15 2 15 BO BO 3 1293 
TR1 PU1118080AL BO M12 12 2 15 2 15 BO BO 117 41 
TR1 PU1118080NY BO M12 12 2 15 2 15 BO BO 11216 
TR1 PU1118090AC 90 M12 12 2 15 2 15 BO BO 3 1734 
TR1 PU1118090AL 90 M12 12 2 15 2 15 BO BO 11914 
TR1 PU1118090NY 90 M12 12 2 15 2 15 BO BO 11306 

TR1 PU 115 

COD 
NEVVTO N 

A 8 81 82 83 c Q (0) Kg 
MIN MAX 

TR1 PU1154045NY 45 M10 10 2 6 100 40 OIB12 
TR1 PU1155050AC 50 M12 12 25 l 2 15 100 50 11277 
TR1 PU1155050AL 50 M12 12 2 15 2 15 100 50 0 1969 
TR1 PU1155050NY 50 M12 12 2 15 2 15 100 50 OIB72 
TR1 PU1156060AC 60 M12 12 2 15 2 15 100 60 11779 
TR1 PU1156060AL 60 M12 12 25 l 2 15 100 60 111B2 
TR1 PU1156060NY 30 175 60 M12 12 2 15 2 15 100 60 0 1927 
TR1 PU1158080AC BO rvt12 12 2 15 2 15 100 BO 3 1344 
TR1 PU1158080AL BO M12 12 2 15 2 15 100 BO 11792 
TR1 PU1158080NY BO M12 12 2 15 2 15 100 BO 11267 
TR1 PU1158090AC 90 M12 12 25 l 2 15 100 BO 3 1785 
TR1 PU1158090AL 90 M12 12 2 15 2 15 100 BO 11965 
TR1 PU1158090NY 90 M12 12 2 15 2 15 100 BO 11357 

TR1 PU 118 

COD 
NEVVTON 

A 8 81 82 83 c Q (0) Kg 
MIN MAX 

TR1 PU1184045 NY 45 M10 10 2 6 100 40 OIB4 
TR1 PU1185050AC 50 M12 12 2 15 2 15 100 50 11305 
TR1 PU1185050AL 50 M12 12 2 15 2 15 100 50 0 1997 
TR1 PU1185050NY 50 M12 12 2 15 2 15 100 50 0 19 
TR1 PU1186060AC 60 M12 12 2 15 2 15 100 60 11807 
TR1 PU1186060AL 60 M12 12 2 15 2 15 100 60 1121 
TR1 PU1186060NY 30 175 60 M12 12 2 15 2 15 100 60 0 1955 
TR1 PU1188080AC BO M12 12 2 15 2 15 100 BO 3 1372 
TR1 PU1188080AL BO M12 12 25 l 2 15 100 BO 11B2 
TR1 PU1188080NY BO M12 12 2 15 2 15 100 BO 11295 
TR1 PU1188090AC 90 M12 12 2 15 2 15 100 BO 3 1B13 
TR1 PU1188090AL 90 M12 12 2 15 2 15 100 BO 11993 
TR1 PU1188090NY 90 M12 12 2 15 2 15 100 BO 11385 

Ir TR1 PU 110 ... 
-I NEWTON con A 8 81 82 83 C Q (0) Kg 

MIN MAX 
TR1 PU1103035AC 35 M8 8 1 ,5 2,5 85 30 o ,72~-I 
TR1 PU1103035Al 35 M8 8 1 ,5 2,5 85 30 0,671t 
TR1 PU1103035NY 35 M8 8 1 ,5 2,5 85 30 o ,65~-I 
ITR1 PU1104045NY 45 M10 10 2 6 85 40 0,7611 
TR1 PU1105050AC 50 M12 12 2,5 2,5 85 50 1,229 
TR1 PU1105050Al 50 M12 12 2,5 2,5 85 50 0,921 
ITR1 PU1105050NY 50 M12 12 2,5 2,5 85 50 0,824 
TR1 PU1106060AC 50 200 60 M12 12 2,5 2,5 85 60 1,731 
TR1 PU1106060Al 60 M12 12 2,5 2,5 85 60 1 ,134 
TR1 PU1106060NY 60 M12 12 2,5 2,5 85 60 0,879 
TR1 PU1108080AC 80 M12 12 2,5 2,5 85 80 3,29~-I 
TR1 PU1108080Al 80 M12 12 2,5 2,5 85 80 1 ,7411 
TR1 PU1108080NY 80 M12 12 2,5 2,5 85 80 1 ,21~-I 
ITR1 PU1108090AC 90 M12 12 2,5 2,5 85 80 3,73~-I 
TR1 PU1108090Al 90 M12 12 2,5 2,5 85 80 1 ,917 
TR1 PU1108090NY 90 M12 12 25 25 85 80 1 ,309~ 

-I TR1 PU 111 
-I NEWTON con A 8 81 82 83 C Q (0) Kg 

MIN MAX 
:i TR1 PU1113035AC 35 M8 8 1 ,5 2,5 80 30 0,726-1 

ITR1 PU1113035Al 35 M8 8 1 ,5 2,5 80 30 0,671-1 
ITR1 PU1113035NY 35 M8 8 1 ,5 2,5 80 30 0,65~ 
TR1 PU1114045NY 45 M10 10 2 6 80 40 0,761 
TR1PU1115050AC 50 M12 12 2,5 2,5 80 50 1,226 
TR1PU1115050Al 50 M12 12 2,5 2,5 80 50 0,918 
TR1PU1115050NY 50 M12 12 2,5 2,5 80 50 0,821 
TR1 PU1116060AC 50 210 60 M12 12 2,5 2,5 80 60 1,728 
TR1 PU1116060Al 60 M12 12 2,5 2,5 80 60 1,131-1 
TR1 PU1116060NY 60 M12 12 2,5 2,5 80 60 o ,87~-I 
TR1 PU1118080AC 80 M12 12 2,5 2,5 80 80 3,293-1 
TR1 PU1118080Al 80 M12 12 2,5 2,5 80 80 1,741-1 
TR1 PU1118080NY 80 M12 12 2,5 2,5 80 80 1 ,21~-I 
TR1 PU1118090AC 90 M12 12 2,5 2,5 80 80 3,734 
TR1 PU1118090Al 90 M12 12 2,5 2,5 80 80 1 ,914 
TR1 PU1118090NY 90 M12 12 2,5 2,5 80 80 1 ,306~ 

I 
TR1 PU 115 

-I NEWTON con A 8 81 82 83 C Q (0) Kg 
MIN MAX 

TR1 PU1154045NY 45 M10 10 2 6 100 40 0,812 
TR1 PU1155050AC 50 M12 12 2,5 2,5 100 50 1,277 
TR1 PU1155050Al 50 M12 12 2,5 2,5 100 50 o ,96~-I 
TR1 PU1155050NY 50 M12 12 2,5 2,5 100 50 0,87~-I 
TR1PU1156060AC 60 M12 12 2,5 2,5 100 60 1 ,77~-I 
ITR1 PU1156060Al 60 M12 12 2,5 2,5 100 60 1 ,18~ 
TR1 PU1156060NY 30 175 60 M12 12 2,5 2,5 100 60 0,927 
TR1 PU1158080AC 80 M12 12 2,5 2,5 100 80 3,344 
TR1 PU1158080Al 80 M12 12 2,5 2,5 100 80 1,792 
TR1PU1158080NY 80 M12 12 2,5 2,5 100 80 1,267 
TR1 PU1158090AC 90 M12 12 2,5 2,5 100 80 3,785 
TR1 PU1158090Al 90 M12 12 2,5 2,5 100 80 1 ,96~-I 
TR1 PU1158090NY 90 M12 12 2,5 2,5 100 80 1 ,357~ 

"'Ì 
TR1 PU 118 -I NEWTON con A 8 81 82 83 C Q (0) Kg 

MIN MAX 
:-t TR1 PU1184045NY 45 M10 10 2 6 100 40 0,811 

ITR1 PU1185050AC 50 M12 12 2,5 2,5 100 50 1 ,30~-I 
TR1 PU1185050Al 50 M12 12 2,5 2,5 100 50 0,997 
TR1 PU1185050NY 50 M12 12 2,5 2,5 100 50 0,9 
ITR1 PU1186060AC 60 M12 12 2,5 2,5 100 60 1,807 
TR1 PU1186060Al 60 M12 12 2,5 2,5 100 60 1 ,21 
TR1 PU1186060NY 30 175 60 M12 12 2,5 2,5 100 60 0,955 
TR1 PU1188080AC 80 M12 12 2,5 2,5 100 80 3,372 
TR1 PU1188080Al 80 M12 12 2,5 2,5 100 80 1 ,8~-I 
TR1 PU1188080NY 80 M12 12 2,5 2,5 100 80 1 ,29~-I 
TR1 PU1188090AC 90 M12 12 2,5 2,5 100 80 3 ,81~-I 
ITR1 PU1188090Al 90 M12 12 2,5 2,5 100 80 1 ,99~-I 
TR1 PU1188090NY 90 M12 12 2,5 2,5 100 80 1,385 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



• 

\ --\ -• 
\ 
• 

\ --\ --\ . . 
\ -. 

....... . 
\ \ ~ 
. ( . . -,. 

\ 

\ 

:, 

\ 

\ 

\ 

\ 

\ 
\ 

\ 

ZE 
PARMA - :tTALY 

PULEGGE (NYLON, ALLUMINIO, ACCIAIO ZINCATO) 
PULLEY (NYLON , ALUMINUM , ZINC-COATED STEEL) , 
POULIE (NYLON , ALUMINIUM , ACIER ZINGUE) 
POLEA (NAILON , ALUMINIO , ACERO CINCADO) 

l 

l 

l 

l 

l 

l 

l 

l . 

3- - r--

6 • 

210 

l 

/' . 
( l ~ . .· / 
,r-· 

TON 

--
J 

• • 
l 
• -

l 
• . 

l -. 
l . . 

l 
• • 

l . 
l . 

• 

\ 

\ .. 

c 
n-··-··-··-··-··-··-·· 
•• .. . 
Il l 
• • • .. . 

r!! 
: i i 
~~ 
~~ 

•• . . 
Il .. 
• • 

U... .. ·-··--·-··-#·--·-·· 

ACCIAO ZINCATO 
ZINC-COATED STEEL -ACIER ZINGUE 
ACERO CINCADO 

4 &-6- _, 

&--; -

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

2 18 

1 31 

~~ 

~ 75 

7~ 

227 
.... 

..... 

,-
r 

- ~ 
t 

~ 
~--
'-

l 5 

2 .5 

. 
\ -

\ 
• 
\ . 

\ 
• 
\ 

\ 

\ 
• 

\ \ \ 

- < 
\ 

\ 

\ 

\ 

\ , 
\ 

Parma ITALY 
PULEGGE (NYLON , ALLU NIO, ACCIAIO ZINCATO ) 
PULLEY (NYLON , ALU NUM, ZINC-COATED STEEL) , 

POULlE (NYLON , ALUMINIUM , ACIER ZINGUE ) 
POLEA (NAILON, ALU NIO, ACERO CINCADO ) 

\ I 

\ ,I 

I 

I 

I 

210 

, 

I 

I 

I 

I 
• 

I 

I 
. 

I 

I 
• 

I 

. 
• 

J 
• , 

I 

, 

, 
, 
\ 

rr"-"- --o - ,,-.,-" 

Il rB1
1 , . . 

rl i 
: i i 
Hl 
~I .. .. 
Il .. .. 
ll. .. _ .. _ ._ .. _ .. _ .. _ .. 

ACCIAO ZINCATO 
ZINC·COATED STEEL 

• 

ACIER ZINGUE 
ACERO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

4 6 

6 ~ -

218 

l'A "I n-------- ----. 

75-

7~ 

227 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



~ l 

l J l ·-r ~ 

~ .,J 

1 .. 
J 

~ 

·-- PARMA - :tTALY 

TR2 PU 210 

COD NEWTON 
A 8 81 82 83 c Q (0) Kg 

MIN MAX 
TR2PU2104045NY 45 M10 10 2 6 100 40 1,348 
TR2PU2105050AC 50 M12 12 2,5 2,5 100 50 1,813 
TR2PU2105050Al 50 M12 12 2,5 2,5 100 50 1,505 
TR2PU2105050NY 50 M12 12 2,5 2,5 100 50 1.408 
TR2PU2106060AC 60 M12 12 2,5 2,5 100 60 2,315 
TR2PU2106060Al 60 M12 12 2,5 2,5 100 60 1 .718 
TR2PU2106060NY 120 480 60 M12 12 2,5 2,5 100 60 1,463 
TR2PU2108080AC 80 M12 12 2,5 2,5 100 80 3,88 
TR2PU2108080Al 80 M12 12 2,5 2,5 100 80 2,328 
TRl P U21 08080 NY 80 M12 12 2,5 2,5 100 80 1,803 
TR2PU2108090AC 90 M12 12 2,5 2,5 100 80 4,321 
TR2PU2108090Al 90 M12 12 2,5 2,5 100 80 2,501 
TRl P U21 08090 NY 90 M12 12 2,5 2,5 100 80 1,893 

TR2 PU 218 

COD NEWTON A 8 81 82 83 c Q (0) Kg 
MIN MAX 

TR2PU218.tO.t5NY 45 M10 10 2 6 100 40 1,379 
TR2PU2185050AC 50 M12 12 2,5 2,5 100 50 1,844 
TR2PU2185050Al 50 M12 12 2,5 2,5 100 50 1,536 
TR2PU2185050NY 50 M12 12 2,5 2,5 100 50 1.439 
TR2PU2186060AC 60 M12 12 2,5 2,5 100 60 2,346 
TR2PU2186060Al 60 M12 12 2,5 2,5 100 60 1.749 
TR2 P U2186060 NY 120 480 60 M12 12 2,5 2,5 100 60 1,494 
TR2PU2188080AC 80 M12 12 2,5 2,5 100 80 3,911 
TR2 P U2188080 Al 80 M12 12 2,5 2,5 100 80 2,359 
TR2 P U2188080 NY 80 M12 12 2,5 2,5 100 80 1,834 
TR2PU2188090AC 90 M12 12 2,5 2,5 100 80 4,352 
TR2 P U2188090 Al 90 M12 12 2,5 2,5 100 80 2,532 
TR2PU2188090NY 90 M12 12 2,5 2,5 100 80 1,924 

TR2 PU 227 

COD NEWTON 
A 8 81 82 83 c Q (0) Kg 

MIN MAX 
TR2PU2275050AC 50 M12 12 2,5 2,5 130 50 2,121 
TR2PU2275050Al 50 M12 12 2,5 2,5 130 50 1,813 
TR2PU2275050NY 50 M12 12 2,5 2,5 130 50 1 .716 
TR2PU2276060AC 60 M12 12 2,5 2,5 130 60 2,623 
TR2PU2276060Al 60 M12 12 2,5 2,5 130 60 2,026 
TR2PU2276060NY 120 380 60 M12 12 2,5 2,5 130 60 1 .771 
TR2PU2278080AC 80 M12 12 2,5 2,5 130 80 4,188 
TR2PU2278080Al 80 M12 12 2,5 2,5 130 80 2,636 
TR2PU2278080NY 80 M12 12 2,5 2,5 130 80 2,1 11 
TR2PU2278090AC 90 M12 12 2,5 2,5 130 80 4,629 
TR2PU2278090Al 90 M12 12 2,5 2,5 130 80 2,809 
TR2PU2278090NY 90 M12 12 2,5 2,5 130 80 2,201 ., 

/ 

Parma ITALY 
TR2 PU 210 

COO 
MIN MAX 

A B B1 B2 B3 C Q (0) Kg 

IlTRlPU2104045NY 45 10 10 2 6 100 40 1 
TR2PU2105050AC 50 12 22 100 50 1~1 
rR2PU2105050AL 50 M12 12 100 50 1 
rR2PU2105050NY 50 M12 12 100 50 1 

TR2PU2106060AC 60 M12 12 100 60 2 1 
IlTR2PU2106060AL 60 M12 12 

-+ 
100 60 

TR2PU2106060NY 120 480 60 M12 12 2,5 100 60 1 
rR2PU2108080AC 80 M12 12 100 80 3 

TR2PU2108080AL 80 M12 12 100 80 2 
TR1PU2108080NY 80 M12 12 100 80 1 

ITR2PU2108090AC 90 M12 12 
2i 

100 80 4,32' 
IITR2PU1108090AL 90 M12 12 22 100 80 
TR2PU2108090NY .QQ. .M1l II 1.2. l.QQ. ..§Q. 

"'TR2Pif21i 
"FJE\iiifc5N 

COO A B B1 82 83 C Q (0) Kg MIN MAX 
TR2PU2184045NY 45 M10 10 2 6 100 40 1.,2191 
rR2PU2185050AC 50 M12 12 100 50 1 14 

TR2PU2185050AL 50 M12 12 100 50 
TR2PU2185050NY 50 M12 12 100 50 1 
TR2PU2186060AC 60 M12 12 100 60 2 
TR2PU2186060AL 60 M12 12 100 60 12: 
TR2PU2186060NY 120 480 60 M12 12 100 60 1~ 
rR2PU2188080AC 80 M12 12 100 80 3411 

TR2PU2188080AL 80 M12 12 100 80 2 
IITR2PU1188080NY 80 M12 12 100 80 1 
TR2PU2188090AC 90 M12 12 100 80 4 
TR2PU2188090AL 90 M12 12 22 22 100 80 2,5321 
TR2PU2188090NY 90 M12 12 ~ ~ 100 80 1~ 

TR2 PU 227 

COO 
NEwrON 

A B B1 B2 B3 C Q (0) Kg 
MIN MAX 

rR2PU1275050AC 50 M12 12 130 50 2121 
TR2PU2275050AL 50 M12 12 130 50 1 1 

IITR2PU2275050NY 50 M12 12 2,5 22 130 50 
TR1PU2276060AC 60 M12 12 130 60 2 
TR2PU2276060AL 60 M12 12 130 60 2 
TR2PU2276060NY 120 380 60 M12 12 130 60 
TR2PU2278080AC 80 M12 12 130 80 
TR2PU2278080AL 80 M12 12 130 80 2 
TR1PU2278080NY 80 M12 12 130 80 2 111 
TR2PU2278090AC 90 M12 12 22 22 130 80 ~ 
rR2PU2278090AL 90 M12 12 130 80 
rR1PU2278090NY 

000I0o 000I0o 000I0o 
90 

000I0o 
M12 12 

000I0o 
130 

000I0o 
80 

000I0o 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



60 

NE\JTilN-r---. 

ACCIAO ZINCATO 
ZINC-COATED STEEL - 1sr-
ACIER ZINGUÉ 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO~ 

110 

COD 

TR1110PUG3 
TR1110PUG4 
TR1111 PUG3 
TR1111 PUG4 
TR1115PUG3 
TR1115PUG4 
TR111BPUG3 
TR111BPUG4 

F"ARMA - :tTALV 

CON PULEGGIA A GOLA IN MATERIALE PLASTICO PA-6 
WITH PA-6 PLASTIC MATERIAL RIM PULLEY 

' , 
AVEC POULIE A CANNELURE EN MATERIEL PLASTIQUE PA-6 , 
CON POLEA A GARGANTA EN MATERIAL PLASTICO PA-6 

MATERIALE PLASTICO: PA6 
PLASTIC MATERIAL: PA6 
MATÉRIEL PLASTIQUE : PA6 

60
o MATERIAL PLASTICO: PA6 

.....---NE\JTilN 

.·.~. / .& . • . ... ~ ·~ 

.... ?',,?' t'./\/ .· .. ) 
. ?' /·. . .· . .. -.&. • 

.'fi' /. .. ,. 1/ 
// / 

;/ 
/ 

/ 

/ 

Ml L...../ 

CH!to ,~ 
/ 

./ 
t/ .. .. . 

/ 

111 

l; .. . . 

115 

NEVVTON 
MIN MAX 
50 200 
50 200 
50 210 
50 210 
30 175 
30 175 
30 175 
30 175 

c 
B5 
B5 
BO 
BO 
100 
100 
100 
100 

--' 13,.7 ,__ 

TAPPI DI PROT E 
PROTECTION CAPS 
BOUCHONS DE PROTECTION 
TAPÒNES DE PROTECCIÒN 

..------!"13~--... 
l 

118 

Q (0) 

76,5 
102 
76,5 
102 
76,5 
102 
76 ,5 
102 

15-lS 

f 

v (0) 

50 
75,4 
50 

75,4 
50 

75,4 
50 

75,4 

,.,A 

.---.-18.5 

Kg 

0,759 
0,7B2 
0,756 
0,779 
O,B07 
o B3 l 

O,B35 
O,B58 

Parma 
CON PULEGGIA A GOLA IN MATERIALE PLASTICO PA-6 
WITH PA-6 PLASTIC MATERIAL RIM PULLEY 

• • 

ITALY 

AVEC POULlE A CANNELURE EN MATERIEL PLASTIQUE PA-6 
• 

CON POLEA A GARGANTA EN MATERIAL PLASTICO PA-6 

MATERIALE PLASTICO: PA6 
PLASTIC MATERIAL : PA6 

1::::::==:::~E;;::====~ MATÉRIEL PLASTIQUE: PA6 6 r--
10 600 MATERIAL PLÀSTICO : PA6 

ACCIAO ZINeATO 
ZINC-COATED STeEL 
ACIER liNGUE 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIQ 

110 

eoo 
TR1110PUG3 
TR1110PUG4 
TR1111 PUG3 
TR1111 PUG4 
TR1115PUG3 
TR1115PUG4 
TR1118PUG3 
TR1118PUG4 

111 

.----NEIJTDN 

MiO-

3. 

, e6 1 

115 

NEwrON 
MIN MAX 
50 200 
50 200 
50 210 
50 210 
30 175 
30 175 
30 175 
30 175 

2- - '--

e 
85 
85 
80 
80 

100 
100 
100 
100 

---' 13,7 -

DI I 
PROTECTION CAPS 
BOUCHONS DE PROTECTION 
TAPÒNES DE PROTECCIÒN 

.- -2~ l'r •.• 
-

r--~ 31--' 

118 

Q (0) V (0) 

76,5 50 
102 75,4 
76,5 50 
102 75,4 
76,5 50 
102 75,4 
76,5 50 
102 75,4 

Kg 

0,759 
0,782 
0,756 
0,779 
0,807 

0,83 
0,835 
0,858 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk

Sassi Lorenzo
Timbro



PARMA - I:TAL..Y 

CON PULEGGIA A GOLA IN MATERIALE PLASTICO PA-6 
WITH PA-6 PLASTIC MATERIAL RIM PULLEY 

' , 
AVEC POULIE A CANNELURE EN MATERIEL PLASTIQUE PA-6 , 
CON POLEA A GARGANTA EN MATERIAL PLASTICO PA-6 

;~~~~~~--~~ 37 3 
l 

45 

~ 
~/ 

,NE'w'TON 
\ ' ' ..-... 

"' 
/ ' . 
\ l . 

-
\ 

l 

\ .... ·< . . 
\ \ 

\ \ . . 
\ . 

\ 
• 
\ . \ . 

\ 
\ 

\ \ 

\ 

\ 

o 

-- l~ ,_ 
l~ 

A 
A 
A 

21 0 
" -

~ 

Ili 

l~ 

~ 

45° . - "· / 

' NE'w' TON 
l 

l 

l 

l 

l l 

CD l 

l 

l 

ACCIAO ZINCATO 
ZINC-COATEO STEEL 
ACIER ZINGUE 
ACERO CINCAOO 

...... ... 
.... 

' 
l 
' 

/ 
.... 

\ l 
l 

.r- / 

l 

l 

l 

l 
M12 

i 

CH27 
l , 

l 
' l 

.... 

" J 
l 

l 

l 

l 

l 

~ 
• 

' l 
' 

, -
120" 

), 
-
' 
l 

' 

- ~&--· 

LLUMINIO 
LUMINIUM 
LUMINlO 

218 

~ 

r--16.8 

6 

-l.(r 

- - 5 --
l rl~ 

' 

~ 

MlQ-J 

2 

66 -_ .... , 
, 

, 
, ' ,. <JO ____, 

\ 
' 

... 
" 

..... . 
' 

l ' \ 
l \ ' l • . • l 

COD 

TR2210PUG3 
TR2210PUG4 
TR2218PUG3 
TR2218PUG4 

~ 

]l 
11\1 

v 

l 

M6 

38 l 

. 13,7 

TAPPI DI PROTEZIONE 
PROTECTION CAPS 
BOUCHONS DE PROTECTION 
TAPÒNES DE PROTECCIÒN 

32 <4 12 - l - -
' 

-=-

NEVVTON c 
MIN MAX 
120 480 100 
120 480 100 
120 480 100 
120 480 100 

Q (0) v (0) K~ 

76,5 50 1,343 
102 75 4 l 11366 
76 5 l 50 1,37 4 
102 75A 1,397 

------- --------- ------

~ 

NEI,I TO N , -~ 

~ 

/\-
\ \ \ I 

\ ( 
\ 

\ , 
\ 

, 
\ 

• 
\ 

\ , 

\ • 

2 10 

Parma ITALY 
CON PULEGGIA A GOLA IN MATERIALE PLASTICO PA-6 
WITH PA-6 PLASTIC MATERIAL RIM PULLEY , , 
AVEC POULlE A CANNELURE EN MATERIEL PLASTIQUE PA-6 , 
CON POLEA A GARGANTA EN MATERIAL PLASTICO PA-6 

-- ---J _ 37 - .., 

, 
, 

I , 
, 

ACCIAO ZJNCA TO 
ZJNC.cOATED STEEL 
ACIER ZJNGUE 
ACERO I 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

45' 
, , 

NE \oI TD N 

~ , , , 

" , , I 
( I 

I 

I 

I 

I 

I , 

/ 
M1 2 

CH27 

( 

120· 

> 
• , 
, 
, 

\ 

., I 
, I 1-

218 

r1~ 

M1O~ 

- .. -

~ , , , 
\, 

COD 

TR2210PUG3 
TR2210PUG4 
TR2218PUG3 
TR2218PUG4 

5 

--' 13,7 '-- I 

TAPPI DI PROTEZIONE 
PROTECTION CAPS 
BOUCHONS DE PROTECTION 
TAPÒNES DE PROTECCIÒN 

NEWTON 
C 

MIN MAX 
120 480 100 
120 480 100 
120 480 100 
120 480 100 

Q (0) V (0) Kg 

76 ,S 50 1,343 
102 75,4 1,366 
76 ,S 50 1,374 
102 75,4 1,397 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk

Sassi Lorenzo
Timbro



'~ . '*.; ... ~:. 
. ·. . . ~ 

{. >- \ ... ~ ... 
: \ '·. ·::,.. .. ~-. ....-, .. ~ 

\ . 
~ .• .. 
~ ·:. 
~ .· .. 
~ .. 
-~ 

Ml .__...-· 

ACCIAO ZINCATO 
ZINC-COATED STEEL 

' ACIER ZINGUE 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

-.. -

110 

. . 
l . 
l . . 

CON ROCCHETTO DENTATO 
WITH SPROCKET , 
AVEC PIGNON DENTE - , 
CON PINON DENTADO 

N 

~ ~·. · .. / .. ~ ~ 
-.:/' / · .. - --4·8 - -

1 

. .v i'~· 
.v·. ' ·· "".. ): 

~· . ~ / . 
Il 

/ 

70 
/ .. 

Il / . 
1/ / l 

eH! 10 / 
/ 

/ 

l; 

Il 52 

. . 
•, 

/; 

111 

• . . 

M • • 

•• • • 

Il 
l - .. 

y •• 

Il • 

• 

l 

39 

115 

F"ARMA - :tTALV 

+TE 
DENTI TEMPRATI 
HARDENED TEETH 

• DENTS TREMPEES 
DIENTES TEMPLADOS 

- 2 l sr · 9.8 
r- 8.5 

À t 

j 
• 

• • 

l 

. 
_ .. _ 

• • 
l -.. -. • 

L~ 
• •• . . . 

~.: ~~ 
: .J _ ,_ 

-.. 

118 

r-*1 
5 l • • 

l 
• • 
l _,_ 
• • • l • 

l • 
• :- .. -

r- l • 

~=_ .. ~ rl===tl : l 
• • • • 

l ;· l 
• 
• 
l M • • 
l • _ .. _ 
• • 
l 
• 
• .. -
! 
• 
l 
• • 

~ 
l 

n 
~ 

16 

, ~ 
~ .. '" ., 

( '.--
\' .~ 

., .,. 
~, ., 

~ 
, 

~ 
, 

~ 
, , 

" , 
" .. .. , 

~ 

~ 

MIO-- . 

R 

ACCIAO ZINCATO 
ZINC-COATED STEEL ", S r -
ACIER ZINGUÉ I 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

110 

" '" 

/ 

CON ROCCHETTO DENTATO 
WITH SPROCKET , 
AVEC PIGNON DENTE 
CON PINON DENTADO 

~ 

" 
/ 

/" <-

" I ~ ) 
/- r H6 

/ 
I; 

/ 

/ I; 

/ I; 

I; 

I; O 52 

" I; 

,- I 

r; 
_-5 . .. 

• 

39 ' i 

115 
111 

- 25 

Parma ITALY 

l 5r - 9.8 

118 

+TE 
DENTI TEMPRATI 
HARDENED TEETH 
DENTS TREMPÉES 
DIENTES TEMPLADOS 

5 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TRR1 A C 1 10 

NEVVTON P ASSO CATEN A DENTI 
C H AIN P ITCH TEETH CO D A 8 c M Kg PASO D E L A CADEN A D IE NTES M IN M AX. P AS D E L A CHAIN E DEN TS 

TRR 1 1 1 OAC38S 318" x 7 /32" 0681 2 1 9 l 1 1 415 85 M1 2x1 175 0 18 12 
TRR1 1 10AC380 318" x 7 /32" 0682 2 1 1 1 12 85 M 10x1 15 0 1934 
TRR1 1 1 OAC 12S 112" x 5/1 6 " 0881 16 9 l 1 1 4 15 85 M1 2x1 175 01836 
TRR1 1 1 OAC 120 50 200 112" x 5/1 6 " 0882 16 12 15 12 85 M1 Ox 1 15 1 1009 
T RR1 1 10AC58S 518"x318 " 1081 17 9 l 1 1 4 5 85 M1 2x1 175 1 1034 l 

TRR 1 1 1 OAC580 518"x318" 108 2 17 15 13 14 15 85 M1 2x1 175 1 1526 
T RR1 1 1 OAC34 S 3/4" x 7 / 1 6 " 1281 15 9 l 1 1 415 85 M1 2x1 ,75 1 l 14 1 
T RR 1 1 1 OAC34 0 3/4 Il x 7 / 1 6 " 1282 15 17 16 1 415 85 Fv11 2x1 175 1 1777 

, 
+ TE:DEN T I TErv1PRATI-H ARDEN ED TEETH -DE N T S TRErv1PEES-D I E N TE S TE r~1PLADOS 

TRR 1 1 1 OAC38STE 318" x 7 /32" 0681 2 1 9 l 1 1 415 85 M1 2x1 175 0 18 12 
TRR1 1 10AC 12STE 5 0 200 

1 12 Il x 5/1 6 Il 0881 16 9 l 1 1 415 85 M1 2x1 175 0 1836 
TRR1 1 1 OAC58ST E 518"x318 " 1081 17 9 l 1 1 4 15 85 M1 2x1 175 1 1034 
TRR1 1 1 OAC34 STE 3/4 Il x 7/1 6 Il 1281 15 9 l 1 1 4 15 85 M1 2x1 175 1 l 141 

TRR1 A C 1 1 1 

N EVVTON 
P ASSO CATEN A DENTI 

C H AIN P ITCH TE E T H COD A 8 c M Kg PASO DE L A CADEN A D IENT ES M IN M AX. P AS D E L A CHAINE D ENTS 
TRR1 1 1 1 AC38S 318" x 7 /32" 0 681 2 1 9 l 1 14 15 80 M1 2x1 175 0 1809 
TRR1 1 1 1AC380 3/B" x 7 /32" 068 2 2 1 1 1 12 80 M 10x1 15 0 1931 
T RR1 1 1 1AC12S 112" x 5/1 6 " 0881 16 9 l 1 1 4 15 80 M1 2x1 175 0 1833 
TRR1 1 1 1AC1 2 0 1 /2 " x 5/1 6 " 0882 16 12 15 12 80 M 10x1 15 1 1006 
TRR1 1 1 1 AC58S 5 0 2 10 518"x318" 1081 17 9 l 1 1 415 80 M1 2x1 ,75 1 1031 
TRR1 1 1 1AC58D 518"x318" 1082 17 15 13 1 415 80 M1 2x1 175 1 1523 
T RR1 1 1 1 AC34 S 3/4 Il x 7/1 6 Il 1281 15 9 1 l 1 415 80 M1 2x1 ,75 1 1138 
TRR1 1 1 1 AC34D 3/4 Il x 7/1 6 Il 1282 15 17 16 1415 80 M1 2x1 175 1 1774 
TRR1 1 1 1AC1 S 1 " x 17 m\m 1681 12 1 1 13 1 415 80 M1 2x1 175 1 ,41 3 
TRR1 1 1 1AC114S 1 "1/4 x 3/4 Il 2081 9 1 1 13 1 415 80 M1 2x1 175 1 133 

, 
+ TE:DENTI TE rv1PRATI-H ARDENED TEETH -DE N TS TRErv1PEES-D I E N TE S TE rv1PLAD OS 

T RR1 1 1 1 A C38ST E 3/8" x 7 /32 " 0681 2 1 9 1 l 1 4 15 80 M1 2x1 175 0 1809 
T RR1 1 1 1AC12STE 1 /2 " x 5/1 6 " 0881 16 9 l 1 1415 80 M1 2x1 175 0 1833 
TRR1 1 1 1AC58STE 5 0 2 10 518"x318 " 1081 17 9 l 1 1 415 80 M1 2x1 175 1 1031 
TRR1 1 1 1 AC34 STE 3/4 " x 7/16" 128 1 15 9 l 1 1 4 5 l 80 M1 2x1 175 1 1138 
TRR1 1 1 1 AC1 S T E 1 " x 17 m\m 1681 12 1 1 13 1 415 80 M1 2x1 175 1 ,41 3 

~ 

TRR1 A C 1 15 

N EVVTON 
P ASSO CATENA DENTI 

C H AIN P ITCH TEETH COD A 8 c M Kg 
PASO DE L A CADEN A D IENTE S M IN M AX. P AS D E L A CHAIN E DEN TS 

TRR1 1 15AC38S 3/8" x 7 /32 " 0681 2 1 9 l 1 1 415 100 M1 2x1 175 0186 
TRR 1 1 15AC38D 318" x 7 /32" 0682 2 1 11 12 100 M 10x1 15 0 1982 
TRR1 1 15AC12S 1 /2" x 5/16" 088 1 16 9 l 1 1 415 100 M1 2x1 175 0 1884 
TRR1 1 15AC12D 1 /2 " x 5/1 6 " 0882 16 12 15 12 100 M10x1 15 1 1057 
TRR1 1 15AC58S 3 0 175 5!8" x318" 1081 17 9 l 1 14 15 100 M1 2x1 175 1 1082 
TRR1 1 15AC58D 518"x318" 1082 17 1 5 13 1 4 15 100 M1 2x1 ,75 1 1574 
T RR 1 1 15AC34 S 3/4 Il x 7/1 6 Il 1281 15 9 l 1 1 4 15 100 M1 2x1 175 1 l 189 
T RR1 1 1 5 A C34 0 3/4 Il x 7/1 6 Il 1282 15 17 16 1 4 15 100 M1 2x1 175 1 1825 
TRR1 1 15AC1 S 1" x 17 m\m 1681 12 1 1 13 1415 100 M1 2x1 175 1 ,46 4 
TRR 1 1 15AC1 1 4 S 1 " 1 / 4 x 3/4" 208 1 9 1 1 13 1 415 100 M1 2x1 175 1 1381 -+ T E :DENTI TErv1PRATI-H ARDEN ED TEETH-DE N T S T REM PEES -D I E N TES TE rv1PLADOS 

TRR1 1 15AC38STE 318" x 7 /32" 0681 2 1 9 l 1 1 415 100 M1 2x1 175 0 186 
TRR1 1 15AC12STE 112" x 5/1 6 " 0881 16 9 l 1 1 415 100 M1 2x1 75 l 0 1884 
TRR1 1 15AC58STE 3 0 175 518" x318" 1081 17 9 l 1 14 15 100 M1 2x1 175 1 1082 
TRR1 1 15AC34 STE 3/4 " x 7/16" 1281 15 9 l 1 1 4 15 100 M1 2x1 175 1 l 189 
TRR1 1 15AC1 STE 1 " x 17 m\m 1681 12 1 1 13 1 4 15 100 M 12x1 175 1146 4 

~ 

TRR1 A C 1 18 

NEVVTO N 
PASSO CATEN A DENTI 

C H AIN P ITCH TEETH COD A 8 c tv1 Kg PASO D E L A CADEN A D IE NTES M IN M AX. P AS DE L A CHAIN E D ENTS 
T RR 1 1 18AC38S 3/8 " x 7 /32" 0681 2 1 9 l 1 1 4 15 100 M1 2x1 175 0 1888 
TRR1 1 18AC380 3/8 " x 7 /32" 0682 2 1 11 1 2 100 M 10x1 15 1 101 
TRR1 1 18AC12S 1 /2" x 5/16" 088 1 16 9 l 1 1415 100 M1 2x1 ,75 019 1 2 
TRR1 1 18AC12D 1 /2" x 5/1 6 " 0882 16 12 15 12 100 M 10x1 15 1 1085 
T RR1 1 18AC58S 3 0 175 

518 Il x 318 Il 1081 17 9 1 1 415 100 M1 2x1 175 1 l 1 1 l 

TRR1 1 18AC580 518" x3/8 " 1082 17 1 5 3 1 415 100 M1 2x1 175 1 1602 l 

TRR 1 1 18 A C34 S 3/4 Il x 7/1 6 Il 1281 15 9 l 1 1 415 100 M1 2x1 ,75 1 12 1 7 
T RR1 1 18 A C34D 3/4 Il x 7 /1 6 Il 128 2 15 17 16 1 415 100 M1 2x1 175 1 1853 
T RR1 1 18AC1 S 1 " x 17 m\m 1681 12 1 1 13 1 415 100 M1 2x1 175 1,492 
TRR1 1 18AC114S 1 "1/4 x 3/4 Il 2081 9 11 13 14 15 100 M1 2x1 175 1 ,409 

, 
+ TE:DEN T I TE rv1PRATI-H ARDENED TEETH -DE N T S TRErv1PEES-D I E N TE S TEMPLADOS 

fi TRR1 1 18AC38STE 318" x 7 /32" 068 1 2 1 9 l 1 14 15 100 M1 2x1 175 0 1888 
TRR1 1 18AC12STE 1 /2" x 5/16" 0881 16 9 l 1 1 415 100 M1 2x1 175 0 19 12 
TRR1 1 18AC58STE 3 0 175 518"x318" 1081 17 9 1 l 1 415 100 t\o11 2x1 175 1 l 1 1 
TRR1 1 18AC34 STE 3/4 Il x 7/1 6 Il 1281 15 9 l 1 1 415 100 M1 2x1 175 1 12 1 7 
TRR 1 1 18AC1 STE 1 " x 17 m\m 1681 12 1 1 3 l 1 415 100 M1 2x1 175 1 ,492 

N EVVTO N 
C OO A 

M I N MAX---'-;. 

318" x 7132" 06B2 11 
112" x 5/1 6"," __ .,,08 B 1,- __ --:-: ,-_ 91 _ 

50 200 

3/4" x 7/16" 12B1 15 
110AC340 3/4" x 7/16" 12 B2 15 17 

+TE:OENTI TEMPRATI -HAROENEO TEETH -OENTS TREMP 

110AC 12STE 
50 2 00 

110AC58STE 

N EVVTO N 
C OO 

MIN MAX 

112" x 5/16" 
518" x 318" 

--; "',,-
08B1 
10B,,;-1_ 
1 

PASO DE LA CADENA 

PAS DE LA 

16 9 1 
1 7,..-_ ----;;9 1 

OIENTES 
OENTS 

A 

B c M K g 

12 85 M10 x 1 
1 4 ;=-__ ----:85_ M 1 2 x 1 75,,+_--:::-S';::';:: 

14 85 
1 4 85 -;M~1~2;:x::;1-"i2t---:;-'=j.j~ 

S -OIENTES TEMPLAOOS 

14 85 

1 4 ;=-__ ----:85_ -:-:-;':-;; "'~ 
14 

B c M K g 

111AC58S 
50 210 

518" x 318" 
518" x 318" 

10B1 
10B:72 _ 

17 91 80 M1 2x1 1 
1 

--; "'- 17,..-_ ~1 5C'-:;=,---- _ ::--;-' ~ _-:80,---111AC580:--_ M12x 1 

111AC 114S 1"1/4 x 3/4" 9 11 _.:...1 4.:... 80 -,M.:..:..,:.1 :2""x ..:..1 ...:....:'-'-_--=- = 
+TE:OENTI TEMPRATI-HAROENEO TEETH-OENTS TREMP S-OIENTES TEMPLAOOS 

111AC58STE 50 210 518" x 318" 
3/4" x 7/16" 

10B1 
--:::-1 2 B,,;-1 _ 

17 91 80 M1 2x1 1 
1111AC34STE 15,-_ 9 1 :-- _ ::--;-' ~ _-:80,--- M1 2x1 1 

N EVVTO N 
C OO 

MIN MAX 

3 0 175 

PASO DE LA C ADENA 

PAS DE LA 

112" x 5/16" 
518" x 318" 

x 

08B2 
10B1 

OIENTES 
OENTS 

17 

A 

12 
9 1 

115AC 114S 1"1/4 x 3 /4" 20B1 9 11 

+TE:OENTI TEMPRATI-HAROENEO TEETH-OENTS TREMP 

112" x 5/16" 
3 0 175 518" x 318" 

08B1 
10B1 17 

9 1 
9 1 

B c M K g 

100 
100 

14 jM~1~2~x~1t2~t=:j~~ 
S---O':"'I':"ENTES TEMPLAOOS 

14 100 
14 100 

TRR1 AC 1187"- ____________ -----r----
N EVVTO N 

C OO 
MIN MAX 

TRR1118AC 120 
118AC58S~_ 30 175 

PASO DE LA C ADENA OIENTES 
OENTS 

A 

PAS DE LA 

112" x 5/16" 
518" x 318" ----: :::---

08B2 12 
1 O B",,1 ___ --:1"'7,,---__ ~9 1,,---

1" x 17m\m 12 
TRR1118AC 114S 1"1/4 x 3 /4" 20B1 9 11 

+TE:OENTI TEMPRATI-HAROENEO TEETH -OENTS TREMP 

1~=i"i3:;-:;-1 i1 8AC 1 2 STE=- 112" x 5/16" 08B1 16 91 
118AC58STE 3 0 175 518" x 318" 

::;-
1 O B,,;-1 ___ --:1;-;7,,---_ ----;;9 1 

B c M K g 

12 M10 x 1 
1 4 ;=-__ ---:-1.;::00;;;.-_ M12x 1 75+_~ ~ 

14 100 
1 4 1 00 ....:M.:..:...;1.=2:..:x.:...1:...J..:..=-'----''-'-'= 

S -OIENTES TEMPLAOOS 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



60 

'~ . .... . .. ~ '* :. 
:'· ., ·~ { 

.... ·, ..- ·~ .. 
: \ ' ·:::,.. ·.: ~ . . ....-, "::,.. .. ~ 

-~ ' 
~ ' .• .. 
~ ·:. 
~ .· .. 
~ .. 
-~ 

Ml ..__.... 

ACCIAO ZINCATO 
ZINC-COATED STEEL 

' ACIER ZINGUE 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

-.. -

OR 

110 

. . 
l . 
l . . 

-• 

CH! 10 / 
/ 

/ 

/ 

- -
CON ROCCHETTO DENTATO 
WITH SPROCKET , 
AVEC PIGNON DENTE - , 
CON PINON DENTADO 

/ 

. . 
•, 

1/ 

1/ 

• . . 

' • 
1/ . 

l/ 
1/ 

N 

70 

• • 

• • 
l 

- --48 

DISTANZIALE 
SPACER 
ENTRETOISE 
DISTANCIADOR 

- -

39 

1 

• • 

115 

l 
52 

.. .. 

.. 

.. .. 

111 

F"ARMA - :tTALV 

- 2s-lsr · 9.8 

• • .. 
.. .. 
• • 

1---1 l 1---1 ....... : ....... 
1---1 l 1---1 • • 

• 
1-- . u----
t--4~~ 
1---1 l 1---1 • . 

• • 
l 

118 

• • 

' 

' ! 

// 
' 
l 

... l 
'· . ···' 

r- 8.5 

• 

• • 

• • 

• • 
l 

16 

, ~ 
l,> '" " ( ',,-

" , \ 
\ . ... 
~, 

~ 
, 

~ 
, , 

~ 

~ 

~ 

~ 

<-
~ ,. 

OR 

ACCIAO ZINCATO 
ZINC-COATED STEEL 1 5r -
ACIER ZINGUÉ 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

110 

" 

- -
CON ROCCHETTO DENTATO 
WITH SPROCKET , 
AVEC PIGNON DENTE 
CON PINON DENTADO 

'" " 

I 

/ 

~ " " 

"/ '" /'" 
I " ) /-

/ 
~ 

I 

_ r H6 

I; 

Q 

I; 

I; 

I; 

I; 

l' A • I 
~: I 

" • 

• 

I 

DISTANZIALE 
SPACER 
ENTRETOISE 
DISTANCIADOR 

39 ., 

115 

52 

I 

111 

Parma ITALY 

I 

I~ 
• 

I 
• 
• 

t-i I 

• 
• 

I 

118 

~. " ; 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TRR1 R S-RD-RT 110 "' 
NEVVTON 

PASSO CATENA DENTI 
CHAIN PITC H TEETH COD A 8 c M Kg PASO DE LA. C ADENA DIENTES MIN MAX. PAS DE L A CHAIN E DENTS 

TRR1 110RS38 318 " x 7/32" 0681 15 6 ,5 12 85 tv11 Ox1 ,5 0 ,694 
TRR1110RD38 318" x 7/32" 0682 15 1 1 ,5 12 85 M1 Ox1 ,5 0 ,759 
TRR1110RT3B 318 " x 7/32" 0683 15 16 ,5 12 85 M1 Ox1 ,5 0 ,824 
TRR111 ORS12 112" x 5/16" 0881 15 6 ,5 12 B5 M1 Ox1 ,5 0,767 
TRR1110RD1 2 112" x 5/16" 0882 15 13 .45 12 B5 M1 Ox1 ,5 0,908 
TRR1110RT12 50 200 112" x 5/16" 0883 15 2 0.4 12 85 M1 Ox1 ,5 1 ,054 
TRR1110RS58 518" x318" 1081 15 B l5 1415 85 M1 2x1 ,75 0 ,931 
TRR1 1 10RD58 518" x318" 1082 15 16 175 1415 B5 M1 2x1 ,75 11227 
TRR111 0RT5B 518"x318" 1083 15 25 1415 85 M1 2x1 ,75 1 ,504 
TRR1110RS34 3/4" x 7/16" 1281 15 B l5 1415 85 M1 2x1 ,75 1 ,129 
TRR1110RD34 3/4 " x 7/16" 1282 15 18 ,25 14 15 B5 M1 2x1 ,75 2 1164 
TRR1110RT34 3/4 Il x 7/1 6 Il 1283 15 28 14,5 B5 rv11 2x1 ,75 21128 

TRR1 RS-RD-RT 111 

NE\JVTON 
PASSO CATENA DENTI 

CH AIN PITCH TEETH COD A 8 c M Kg 
PASO DE LA CADENA DIENTES tv11N MAX. PAS DE L A CHAINE DENTS 

TRR1 1 1 1 RS38 318" x 7/32" 0681 15 6 15 12 80 M1 Ox1 15 01691 
TRR1 1 1 1 RD3B 318" x 7/32" 0682 15 1 1 15 12 BO M1 Ox1 15 01756 
TRR1 1 1 1 RT38 318" x 7/32" 0683 15 16 ,5 12 BO rv11 Ox1 ,5 0 1821 
TRR1 1 1 1 RS12 112" x 5/16" OB81 15 6 ,5 12 BO M1 Ox1 ,5 0.764 
TRR1 1 1 1 RD1 2 112 .. x 5/1 6 Il 0882 15 13 .45 12 BO M1 Ox1 ,5 0 ,905 
TRR1111 RT12 112" x 5/16" 0883 15 20.4 12 80 M1 Ox1 ,5 1 ,051 
TRR1111 RS58 518" x318" 1081 15 8 15 1415 80 M1 2x1 ,75 0,928 
TRR1111 RD58 50 2 10 518 " x 318" 1082 15 16 175 1415 80 M1 2x1 ,75 . 11224 
TRR1111 RT5B 518"x318" 1083 15 25 1415 80 M1 2x1 ,75 11501 
TRR1 1 1 1 RS34 3/4 Il x 7/1 6 .. 1281 15 85 l 1415 80 M1 2x1 ,75 11126 
TRR1 1 1 1 RD34 3/4 " x 7/16" 1282 15 18125 1415 80 M1 2x1 ,75 2 ,161 
TRR111 1 RT34 3/4" x 7/16" 1283 15 28 1415 80 M1 2x1 175 2 1125 
TRR111 1 RS1 1" x 17 m\m 1681 13 10 1415 80 fv11 2x1 ,75 1 ,551 
TRR1 1 1 1 RD1 1 " x 17 m\m 1682 12 27 ,3 14 15 80 M1 2x1 ,75 2 1221 
TRR1111 RT1 1 " x 17 m\m 1683 12 4 3 13 1415 80 M1 2x1 ,75 3 1021 
TRR1111 RD114 1 " 1/4 x 3/4" 2082 9 29 15 1415 80 M1 2x1 ,75 2 1168 

TRR1 RS-RD-RT 115 

NE\JVTON 
PASSO CATENA DENTI 

CH AIN PITC H TEETH COD A 8 c M Kg 
PASO DE LA CADENA DIENTES MIN MAX. PAS DE L A CHAINE DENTS 

TRR1 115RS38 318" x 7/32" 0681 15 6 15 12 100 M1 Ox1 ,5 01742 
TRR1 1 15RD38 318 " x 7/32" 0682 15 1 1 ,5 12 100 M1 Ox1 ,5 0 1807 
TRR1 1 15RT38 318 " x 7/32" 0683 15 16 ,5 12 100 M1 Ox1 ,5 0 ,872 
TRR1 1 15RS12 112 Il x 5/1 6 Il 0881 15 6 ,5 12 100 M1 Ox1 ,5 0 ,8 15 
TRR1115RD1 2 112" x 5/16" 0882 15 13.45 12 100 M1 Ox1 ,5 0 ,956 
TRR1115RT12 112" x 5/16" 0883 15 2 0.4 12 100 M1 Ox1 15 1 ,1 0 2 
TRR1115RS58 518" x318" 1081 15 B l5 1415 100 M1 2x1 ,75 . 01979 
TRR1 1 15RD58 30 175 518" x318" 1082 15 16 175 1415 100 M1 2x1 ,75 11275 
TRR1 1 15RT58 518" x318" 1083 15 25 1415 100 M1 2x1 ,75 1 ,552 
TRR1 1 15RS34 3/4 " x 7/16" 1281 15 8 15 1415 100 M1 2x1 175 1 ,177 
TRR1 1 15RD34 3/4 " x 7/16" 1282 15 18 125 1415 100 M1 2x1 ,75 2 ,2 12 
TRR111 5RT34 3/4 " x 7/16" 1283 15 28 1415 100 M1 2x1 ,75 2 ,176 
TRR1 1 15RS1 1 " x 17 m\m 1681 13 10 14 15 100 fv11 2x1 ,75 11602 
TRR1115RD1 1 " x 17 m\m 1682 12 27 3 l 14,5 100 M1 2x1 ,75 2 1272 
TRR1115RT1 1 " x 17 m\m 1683 12 4 3 13 1415 100 M1 2x1 175 3 1072 
TRR1115RD114 1 Il 1/4 x 3/4 Il 2082 9 29 15 1415 100 M1 2x1 ,75 2 12 19 

TRR1 RS-RD-RT 118 

NEVVTON 
PASSO CATENA DENTI 

CH AIN PITC H TEETH COD A 8 c M Kg PASO DE LA CADENA DIENTES MIN MAX. PAS DE L A C HAINE DENTS 
TRR111 8RS38 318" x 7/32" 0681 15 6 ,5 12 100 M1 Ox1 ,5 0,77 
TRR1 1 18RD38 318 " x 7/32" 0682 15 1 1 ,5 12 100 M1 Ox1 ,5 0 ,835 
TRR1 1 18RT3B 318 " x 7/32" 0683 15 16 ,5 12 100 M1 Ox1 ,5 0,9 
TRR1118RS1 2 112" x 5/16" 0881 15 6 15 12 100 M1 Ox1 ,5 0,843 
TRR1118RD1 2 112" x 5/16" 0882 15 13 .45 12 100 M1 Ox1 15 01984 
TRR1118RT1 2 112" x 5/16" 0883 15 2 0.4 12 100 M1 Ox1 15 1 ,13 
TRR1 1 18RS58 518"x318" 1081 15 B l5 1415 100 M1 2x1 ,75 11007 
TRR1 1 18RD58 30 175 518" x318" 1082 15 16 175 1415 100 M1 2x1 ,75 11303 
TRR111 8RT5B 518" x318" 1083 15 25 1415 100 M1 2x1 175 1 ,58 
TRR111 8RS34 3/4 " x 7/16" 1281 15 85 l 1415 100 M1 2x1 ,75 1 ,2 0 5 
TRR111 BRD34 3/4 " x 7/16" 1282 15 18 ,25 1415 100 M1 2x1 ,75 2,24 
TRR1 1 18RT34 3/4" x 7/16" 1283 15 28 14 ,5 100 tv11 2x1 ,75 2 1204 
TRR1118RS 1 1 " x 17 m\m 1681 13 10 14,5 100 M1 2x1 ,75 1 ,63 
TRR1118RD1 1 " x 17 m\m 1682 12 27 13 1415 100 tv112x 1 175 213 
TRR111BRT1 1 " x 17 m\m 1683 12 4 3 13 1415 100 M1 2x1 ,75 3 11 
TRR111BRD114 1 " 1/4 x 3/4 Il 2082 9 29 15 14,5 100 M1 2x1 ,75 2 ,247 

PASSOCAT~ 
NEWTON CHAIN PITCH TEETH 

eOD A 8 e M Kg PASO DE LA CADENA DIENTES 
MIN MAX PAS DE LA""CHAiNE DENTS 

TRR1110RS38 318" x 7/32" 0681 15 6 12 85 M10x1 0694 
TRR1110RD38 318" x 7/32" 0682 15 1 1 '" 12 85 M10x1 0,7 
TRR1110RT38 318 " x 7/32" 0683 15 16 '" 12 85 M10x1 &: 0824 
TRR1110RS12 112" x 5116" 0881 15 6 '" 12 85 M10x1 &: 0 ,767 
TRR1110RD12 112" x 5116" 0882 15 13,45 12 85 M10x 1 &: 0 ,9~ 
TRR1110RT12 112" x 5/16" 0883 15 20,4 12 85 M10x 1 1 ,4 

50 200 
I ~R111 ORS53 518" x 318" 10E11 1 E 14,e 85 M1 2x1,7 1,9:~ , 
I~R11~ <;18" x~ 

il 
15 16 ,75 14,5 

i 
M 'x1 ,7ò 1 '7 

I~R ~~ <;~x~ 15 ~ 14,5 M1~ ,h 1~ I~R ~14 "/4" x l.§:' 1~ ~ 4,5 M 'I ~ 't 

~~.l1 ]E:" x 7, " 144 : ,1 
x"" I I {[ I lli1 1 

""'PAsSO"'C" ,TENA :l'I rI 
NEWTON CHAIN PITCH T EE' n 

eOD A 8 e M Kg PASO DE LA CADENA DIENTES 
MIN MAX PAS DE LA CHAiNE DENTS 

TRR1111 R S38 318" x 7/32" 0681 15 6 12 80 M10x1 <; 0691 
TRR1111 RD38 318" x 7/32" 0682 15 1 1 12 80 M10x1 0,7 
TRR1111 RT38 318" x 7/32" 0683 15 16 12 80 M10x1 0821 
TRR1111 RS12 112" x 5/16" 0881 15 6 12 80 M10x1 0,764 
TRR1111 RD12 112" x 5/16" 0882 15 13 ,45 12 80 M10x1 &: o 9Q§J 
TRR1111 RT12 112" x 5/16" 0883 15 20 ,4 12 80 M10x1 &: 1 
TRR1 1 11 RS58 518" x 318" 1081 15 8 '" 14,5 80 M1 2x1 75 0 ,9~ 
TRR1111 RD58 518" x 318" 1082 15 16 ,75 14,5 80 M1 2x1 75 1 24 

50 210 
TRR1111 RT58 518" x 318" 1083 15 25 14 5 80 M1 2x1 75 1,501 
I ~R1 1 1 ~ 14 "l/4" x 7 l'I...§." 12EI1 15 E '" 14,5 8( M1 2x1,7 1 1~ 
I ~R1 1 11B.!5l4 "l/4" x 7 l'I...§." 1~ 15 1!l~ 14,5 8e M1 'x1 ,7ò ~W-I~R 1R 34 "l/4" x Il,.§:' ~ 15 ~ 14,5 ~ M1~ ,h 
I~R ~ "x 7~ ~ H- ~ ~ 4,5 MI~ :~ 't 

1" ~ I ~ 

I I I 
1 I I 14 I 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH 
eOD A 8 e M Kg PASO DE LA CADENA DIENTES 

MIN MAX PAS DE LA""CHAiNE DENTS 
TRR1115RS38 318" x 7 /32" 0681 15 6 12 100 M10x1 <; 0,742) 
TRR1115RD38 318" x 7/32" 0682 15 1 1 12 100 M10x1 0807 
TRR1 1 15RT38 318" x 7/32" 0683 15 16 '" 12 100 M10x1 087", 
TRR1115RS1 2 112" x 5/16" 0881 15 6'" 12 100 M10x1 &: 081 
TRR1115RD12 112" x 5/16" 0882 15 13 ,45 12 100 M10x1 &: o ,9! 
TRR1115RT12 112" x 5/16" 0883 15 20,4 12 100 M10x1 &: 1 10: 
TRR1115RS58 518" x 318" 1081 15 8'" 14,5 100 M1 2x1 75 0,97' 
II-<R1 1 15RD58 

30 175 
518" x 318" 1082 15 16 ,75 14 5 100 M1 2x1 ,7 1,2h 

TRR1 1~ 1 <;18" x~ ~ 
15 25 14,5 1m M1 2x1 ,7':J 1# 

I~R11~ i4 "l/4" x 7 l'I...§." 15 

~ 
14,5 1~ M1 ,h 1 177 

I~R ~ "l/4" x 'l'I..§:' 

li 
15 4,5 I~ MI~ ~ U.W 

I~R ~ 34 "l/4" x l.§:' 1~ ~ 4,5 le MI~ 't : 
1 " I ~ 

I 1 I 1 I 
1 I 1 ' I 14 I 
1 I I 14 I 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH 
eOD A 8 e M Kg PASO DE LA CADENA DIENTES 

MIN MAX PAS DE LA""CHAiNE DENTS 
TRR1118RS38 318" x 7/32" 0681 15 6 12 100 M10x1 0,77 
TRR1 1 18RD38 318" x 7/32" 0682 15 1 1 '" 12 100 M10x1 o 
TRR1 1 18RT38 318 " x 7/32" 0683 15 16 '" 12 100 M10x1 &: o 
TRR1118RS12 112" x 5/16" 0881 15 6'" 12 100 M10x1 &: 084: 
TRR1118RD12 112" x 5/16" 0882 15 13,45 12 100 M10x 1 &: 0 ,984 
TRR1118RT12 112" x 5116" 0883 15 20,4 12 100 M10x 1 &: 1 12J 
TRR1 118RS58 518" x 318" 1081 15 8 14 5 100 M1 2x1 75 1 :l07 
TRR11~ 30 175 <;18" x~ 

~ 
15 16 ,75 14,5 10e M1 2x1,7ò 1 

I~R 1~ <;~x~ 15 ~ 14,5 1~ M1~ ,h ,t 

I~R ~i4 "l/4" x l.§:' 1~ ~ 
4,5 le M 'I ~ 't ~ 

I~~R "l/4" x l.§:' 4,5 le 't ~ 

1/4 I 1, -.1 I 
I 

R1 
I 1: I 

1 I I 1 14 I 
1 I 1 ' I 14 I 
1 I I 14 I 1 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



.. 
.. . . 

~ \ NE\JTDN .. . ..._ 
\ ~ · \ ; '\ --

"<. ' 

/ 
.... 

\ \ \ \ 

\ - :< 
\ \ 

• 

\ \ 

\ 

\ 

\ 
• . 
\ 

C~{O, 

\ 
\ 

\ 
\ 

\ 

CON ROCCHETTO DENTATO 
WITH SPROCKET , 
AVEC PIGNON DENTE - , 
CON PINON DENTADO 

: : 

. . 

' •• 
l • • 

l 
CH27 

M 
Il 

l l 
l 

l 

' 

210 

• ~ .. 
• -.. 

Il 
• • 

• • 

: ! 

. . 
" 
•• 

ACCIAO ZINCA TO 
ZINC~COATED STEEL , 
ACIER ZINGUE 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

• 

• 

l 

4& 1 
61 r-...., 

218 

...... ...... 

F"ARMA - :tTALV 

•• 

IIR: 

' 
~ • 

• 

,-
r 

- ~ 
t 

~ 
~--
'--

-.. -
-.. -
E .. --.. -
• . 
l 

~ . -.. -
-.. 

+TE 
DENTI TEMPRA TI 
HARDENED TEETH 

• DENTS TREMPEES 
DIENTES TEMPLADOS 

A 
n l 

l 
• • 
l 
• • 
l -.. - • 
• 
l 
• • -.. -

r- l :. 
1:=.. •• . 1- 11===11 : l 

Il • •• • 

l ;: l 
• 
• 

M l 
• • 
l • -.. - • • 
f 
• 

l • . . -
! 
• 
l 
• • 

~ 
l 

n 
.u 

-75 

7 1.:1 

227 
..,. 

~ 

~ NEVITON 

,-, , 
I 

~ 

\ /' 

\ \ \ \ 

\ < 
\ 

\ 

\ 

\ 

\ 

\ 

, 

450 

" 

, 
\ 

, 

\ 

1.I u. 

, , , -

\ 

\ I 

\ I 

\ I 

, 

I 

J 

450 

~ 

CON ROCCHETTO DENTATO 
WITH SPROCKET 

• 
AVEC PIGNON DENTE 
CON PINON DENTADO 

NEVlTDN "-
, 

~; .' 
/ ...... , , 

" 
· , 
, 
· · 

I 
, , , I 

I 

I 
I I 

, 
I 

M12 

, 
CH27 

, 

2 10 

I 

I 

ACCIAO ZINCATO 
ZINC-COATED STEEL 

• 

ACIER ZINGUE 
ACERO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

I 
• 

6 

2 18 

Parma ITALY 

+TE 
DENTI TEMPRATI 
HARDENED TEETH 
DENTS TREMPÉES 
DIENTES TEMPLADOS 

O 

r-----7 Si- ---

7 I .. I 

22 7 

• •• 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



T RR2 AC 210 

NEWTON PASSO CATENA DENTI 
CHAIN PITCH l t: t: TH COD A 8 c M Kg PASO DE LA CADENA DIEN'I t:S MIN MAX PAS Ut: l A c rlAlNE DENTS 

TRR221 OAC38S 3/B" x 7 /32" 0681 21 9,1 14 ,5 100 M12x1,75 1,396 
' 

TR R221 OAC38D 3/B" x 7 /32" 0682 21 1 1 12 100 M1 Ox1 ,5 1,518 
TRR221 OAC12S 112" x 5/16" 0881 16 9,1 14 ,5 100 M12x1 ,75 1 ,42 
TRR2210AC12D 112" x 5/16" 0882 16 12,5 12 100 M1 Ox1 ,5 1 .5~-:s 
TR R221 OAC58 S 120 480 

5/B Il x 3/B Il 1081 17 9,1 14 ,5 100 M1 2x1,75 1,618 
TRR2210AC58D 5/B Il x 3/B Il 1082 17 17,8 14 ,5 100 M12x1,75 2,11 
TR R221 OAC34 S 3/4" x 7/16" 1281 15 9,1 14 ,5 100 M1 2x1 ,75 1,725 
TR R221 OAC34D 3/4 Il x 7/1 6 Il 1282 15 20,1 14 ,5 100 M12x1,75 2,361 
TRR2210AC1 S 1" x 17 m\m 1681 12 11,3 14 ,5 100 M12x1,75 2 
TRR2210AC114S 1 Il 1/4 x 3/4 Il 2081 9 13 8 o' 14,5 100 M1 2x1,75 1,917 

, 
+ T E:OENTI TE~1PRATI-HARDENED TEETH-DENTS TREFv1PEES-DIENTES TEFY1 P lADOS 

TR R221 OAC38STE 3/B" x 7 /32" 0681 21 9,1 14 ,5 100 M12x1,75 1,396 
TRR221 OAC12STE 1/2" x 5/16" 0881 16 9,1 14 ,5 100 M1 2x1 ,75 1 ,42 
TR R221 OAC58STE 120 480 5/B Il x 3/B Il 1081 17 9,1 14 ,5 100 M1 2x1,75 1,618 
TR R221 OAC34STE 3/4"x7/16" 1281 15 9,1 14 ,5 100 M12x1,75 1,725 
TRR2210AC1 STE 1" x 17 m\m 1681 12 11,3 14 ,5 100 M1 2x1,75 2 

TRR2 AC 218 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH COD A 8 c M Kg PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAiNE DENTS 
TR R2218AC38S 3/B" x 7 /32" 0681 21 9 ,1 14 ,5 100 M12x1,75 1 ,427 
TR R2218AC38D 3/B" x 7 /32" 0682 21 11 12 100 M1 Ox1 ,5 1,549 
TRR2218AC12S 1/2" x 5/16" 0881 16 9,1 14 ,5 100 M1 2x1 ,75 1 ,451 
TRR2218AC12D 112" x 5/16" 0882 16 12,5 12 100 M1 Ox1 ,5 1,624 
TR R2218AC58 S 5/B" x 318" 1081 17 9,1 14 ,5 100 M1 2x1,75 1,649 
TR R2218AC58D 120 480 5/B" x 3/B" 1082 17 15,3 14 ,5 100 M1 2x1 ,75 2,141 
TR R2218AC34S 3/4 Il x 7/16" 1281 15 9,1 14 ,5 100 M12x1,75 1,756 
TR R2218AC34D 3/4 Il x 7/16" 1282 15 17,6 14 ,5 100 M1 2x1 ,75 2 ,392 
TRR2218AC1 S 1" x 17 m\m 1681 12 11,3 14 ,5 100 M1 2x1,75 2,031 
TRR2218AC1 14S 1 Il 1/4 x 3/4 Il 2081 9 11,3 14 ,5 100 M12x1 ,75 1,948 
TRR2218AC112S 1"112 x 1" 2481 9 13,8 14 ,5 100 M1 2x1,75 2,565 
TRR2218AC134S 1"3/4 x 1"1/4 2881 9 16,3 14 ,5 100 M12x1,75 3,561 

# 

+ T E:OENTI T EFv1PRATI-HARDENED TEETH-DENTS TREFv1PEES-DIENTES TEFY1P l ADOS 

TR R2218AC38STE 3113" x 7 /32" 0681 21 9,1 14 ,5 100 M12x1,75 1 ,427 
TRR2218AC12STE 1/2" x 5/16" 0881 16 9,1 14 ,,5 100 M1 2x1,75 1 ,451 
TR R2218AC58STE 120 480 518" x 318" 1081 17 9,1 14 5 l 100 tv112x1,75 1,649 
TR R2218AC34STE 3/4" x 7/16" 1281 15 9,1 14,5 100 M1 2x1,75 1,756 
TRR2218AC1 STE 1" x 17 m\m 1681 12 11,3 14 ,5 100 M1 2x1 ,75 2,031 

T RR2 AC227 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH COD A 8 c M Kg PASO DE LA CADENA DIENTES M IN MAX PAS DE LA CHA !NE DENTS 
TR R2227 AC38S 318" x 7 /32" 0681 21 9,1 14 ,5 130 f\1112 x1 ,75 1,704 
TRR2227AC12S 1/2" x 5/16" 0881 16 9,1 14,5 130 M1 2x1,75 1,728 
TRR2227 AC58S 518 Il x 318 Il 1081 17 9,1 14 ,5 130 M12x1,75 1,9?R 
TRR2227 AC58D 5/B Il x 318 Il 1082 17 15,3 14 ,5 130 M12x1,75 2,418 
TRR2227 AC34S 120 380 3/4 Il x 7/16" 1281 15 9,1 14 ,5 130 M1 2x1,75 2,033 
TRR2227 AC34D 3/4 Il x 7/1 6 Il 1282 15 17,6 14 ,5 130 M12x1,75 2,669 
TRR2227 AC1 S 1" x 17 m\m 1681 12 11,3 14,5 130 M1 2x1,75 2,308 
TRR2227 AC114S 1 "1/4 x 3/4 Il 2081 9 11,3 14 ,5 130 M1 2x1 ,75 2,225 
TRR2227 AC112S 1"112 x 1" 2481 9 13,8 14 ,5 130 f\1112 x1 ,75 2,842 
TR R2227 AC 134 S 1"3/4 x 1"1/4 2881 9 16,3 14 ,5 130 M1 2x1 ,75 3 ,838 

" 
+ TE:DENTI TEFY1PRATI-HARDENED TEETH-DENTS TREFv1PEES-DIENTES TEMPlA DOS 

TRR2227 AC38STE 318" x 7 /32" 0681 21 9,1 14 ,5 130 M12x1,75 1,704 
TR R2227 AC 12 STE 112" x 5/16" 0881 16 9,1 14 ,5 130 M12x1 ,75 1,728 
TRR2227 AC58STE 120 380 518 Il x 318 Il 1081 17 9,1 14 ,5 130 M1 2x1 ._75 1,~26 
TRR2227 AC34STE 3/4 Il x 7/16" 1281 15 9,1 14 ,5 130 M12x1,75 2,033 
TR R2227 AC 1 STE 1" x 17 m\m 1681 12 11,3 14 ,5 130 M1 2x1,75 2,308 

COD 

TRR2210AC38S 
TRR2210AC38D 
TRR2210AC12S'----i 

NEWTON f----'-~~.;:;, 

MIN MAXf-. 

3/8" x 7/32" 0681 
3/8" x 7/32" 0682 
112" x 5/16" 0881 

J----:-'c
1 

c+-:-

A 

21 9 1 
21 11 
16:--__ --;:.9 1 _ 

------'-=--

8 c M Kg 

14 =-- _1.:...::0:.::::0_ M 1 2 x 1 
12 100 M10x1 

14:=-_-;.:100_ M12 x1 

TR R221 OAC58D---i 120 480 1--5/8" x 3/8'::-" -+-:-108-=-2- ---:-1 =7 -- ---::17=-:::- ----:--:- ::=-- -----:-:1 00- M 12 x 1 ~ --'-: :..:-: 

TRR2210AC34S 3/4" x 7/16" 1281 15 91 14 =--!---:1,-::0=0_ M1 2x1 
TRR2210AC34D 1-:"3,/4" x 7/16" 1282 15:--_ 20 1:-- ----,14 100 M12 x1 ==- --:::-'::~ 

x 
1 "1/4 " 

• 
+TE:DENTI TEMPRATI-HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPLADOS 

TRR2210AC12STE 0881 16 91 14 :::-_1:-::0~0_ M1 2x1 

-:f,:~~~~~S-=i=T~E--j 120 480 1---:'::.:..::,,.......:..:~=::-:,-+-....:.1=0.:::::8-'-1 ___ ...:..1 ,::-7 ___ ---=-9 !....:.1_ ----'1-'4""'=-___ 1.:...:::.::::_ M 12 x 1 ~ -....:....c::-=.::::: 

...;T.;..R;,;,.R,;,:2,-=2;.;.1.:=;OA;,..,;.;:;C...;1.=S;.;.T,;,:E,--.L..-___ .L...;..1 '_' ;,;,.x ...;1.;..7...;m,;.;,\.;;.m;,,;..,.J~=~ _----:.1 =.2 ___ ....;..;,..:.=... _ _ ....:....;,. =--..1...-....;1.=0;;:,0_ M 1 2 x 1 ~ __ --= 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH 
COD A 8 C M 

MIN MAX 
PASOELA 

TRR2218AC38S 3/8" x 7/32" 0681 21 9 1 14 100 M12 x1 
" 

16 100 

1081 17 

~~~~~*,,---l 120 480 " 1 ° _-----'-1'::-7 ___ -,175-=-_ M 12 x 1 

I---' '-'---" ':':"':"::'-----If------"1 2 8=-2 _ 
x m\m 

1 5 ___ --..:...:,-!- "--__ --'---.:.J __ ---'-1 00_ -'-'-

1 "1/4 x 3/4" 2081 
1"1 x1" 

__ --:-:1 00_ -:-:-:-:-: :-::-:-

• 
+TE:DENTI TEMPRATI-HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPLADOS 

1 1 

Kg 

1 

1 

1 
2 

_-----'-1 ,::-7 ___ ---=-9 !....:.1_ ----'--'-' =-___ 1.:...::0:.::::0_ M 1 2 x 1 ~ _....:.1..0=-=::7 
15 91 14 100 M1 2x1 1 

TRR2218AC58STE 120 480 5/8" x 3/8" 1081 
TRR2218AC34STE 3/4" 7/16" 1281 
TRR2218AC1STE 1"x17m\m 1681 12 11 14 100 M12x1 ==- =12~~ 

PASSO CATENA DENTI 
N EWTO N f-----::::-:-:-:c:-:-::c=-:---- --====~-

CHAIN PITCH TEETH 
COD A 

M I N MAX f---:P=-=A-=S-::O=-=EC7L--:"A---=-:-:- c::::---

3/8" x 7/32" 0681 21 9 1 
112" x 5/16" 0881 16 91 
5/8" x 3/8" 1081 17 9 1 - ,-t---:-:- -----, -- ---;:. :--

8 C M 

1 4 =-- _1.:...::3:.::::0_ M 1 2 x 1 
14 130 M1 2x1 

==-14 __ -,130_ M12 x1 

Kg 

/1" 1 1 1 14 1 
TRR2227AC34D'----i 120 380 1-3/4 " x 7/16'::-"+--;':1282 15 17 14 130--:-:-:-:- -"-:-",;:---

1 " 17 m\m 1681 12 14 1 --?:::.::= 
1 " 1 /4 x 3/4" 2081 9 1 4 =-- --:-:13=0:-- --:C-:-:~ -'-:--' ==-

-;- ---é ,-- ----:- c':=--- ----, ------: 
x 

l' x 1"1/4 
;;"":"';;;"":''''':':''..:..L..'':;; 1 

• 
+TE:DENTI TEMPRATI-HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPLADOS 

112" x 5/16" 
-j 1 20 380 I---C ::::--+.:::-

~~~~~ " 

1" x 17 m\m 

_----;-16'--__ -:9 1 
1 1 

__ --:-:1 30_ -:-:-:-:-: :-::-:-
1 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



.. 
-· .. 

~ \ NE\JTDN ... ..._ 
\ ~· 

/ 

\ 
\ 

\ 
• 

\ 

\ 

\ ; '\ --
"<. ' 

\ 

\ 
• . 
\ 

.... 
\ \ \ 

- :< 
\ 

C~{O. 

\ 

\ l 

\~~~=~~ 
\ l 

\ l 

- -
CON ROCCHETTO DENTATO 
WITH SPROCKET F"ARMA - :tTALV 

l 

, 
AVEC PIGNON DENTE - , 
CON PINON DENTADO 

l 

l 

l 

-- M12 

' l 
l 

CH27 
l 

l 
l 

' 

l 

l 

l 

l 

l 

J \ . 
\ . 

. . 

.. 

.. 

.-··-.. --, 

.. A .. 

l . . 

• 

...... •• ...... 

IIR: 

l 
j 

l . . ,. .. . l'" . ~ l .. ... .. .. .. . . 
l 

~ .. - ~ .. - . . 
..... .. .. . l ~ 
r- .. - 1- -- -· - l 
~ ;: l ~~ ... ..........., 

--1-...f- - .. ...fl .• J l - L-.... 
j ~· ~ -

M : f4 : _ .. _~ .... ... : 
.......... t l ~h ;: . ! - t--t 

. 
• 

.- 1.- :: L :· j] ~ L.iJ==' 
~ ... ii . : .....__. 

•• 

. 
• 
l 

DISTANZIALE 
SPACER 
ENTRETOISE 
DISTANCIADOR 

ACCIAO ZINCA TO 
ZINC-COATED STEEL , 
ACIER ZINGUE 
ACERO CINCADO 

• • ~ .. - ~ .. - ! -;::: 
'" " . i- " • l ~ r- .. - ~ .. - : 
~..... "" "" ! ~ .. .. .. . l '---' 

. 
l 

-75 

4& 1 
61 r-

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

...., 

227 

. . 

7 ,.:1 

--A-

l 

2 18 210 
..,. 

~ 

,-
r 

- ~ 
t 

~ 
~--
'--

, .. -

~ NEIJTON 

~ "-, , 
I --' 

\ /' , 
\ \ \ \ 

\ ' < 
\ \ 

\ \ 

\ \ 

\ 

\ 
\ I 

\ 
\ I 

\ I 

\ I 

\ I 

! 

~ 

- -
CON ROCCHETTO DENTATO 
WITH SPROCKET , 
AVEC PIGNON DENTE 
CON PINON DENTADO 

NEIJTDN " 
, 

.' 
/ -.. , 

~; 

, 

, I 

I 

, 
I 

M12 

, 
CH27 

, 

, 

I 
I 

I 

I 
I 

I 

· , 
, 
· · , , 

• A L 

I 

DISTANZIALE 
SPACER 
ENTRETOISE 
DISTANCIADOR 

ACCIAO ZINCATO 
ZINC-COATED STEEL 
ACIER ZINGUÉ 
ACERO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

6 

2 10 2 18 

Parma ITALY 

• •• 
o 

I 

B -
~------7 ~------

7',-

227 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TRR2 RS-RD-RT 210 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH COD A 8 c M Kg 
PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAINE DENTS 

TRR221 ORS38 3ta" x 7 /32" 0681 15 65 l 12 100 M10x115 1 ,278 
TRR221 ORD38 3ta" x 7 /32" 0682 15 11 ,5 12 100 M10x1 ,5 1 ,343 
TRR221 ORT38 3ta" x 7 /32" 0683 15 16,5 12 100 M10x1 ,5 1.408 
TRR221 ORS1 2 112" x 5116" 0881 15 6,5 12 100 M10x1 ,5 1 ,351 
TRR221 ORD12 112" x 5116" 0882 15 13.45 12 100 M1 Ox115 11492 
TRR221 ORT1 2 1/2" x 5116" 0883 15 20.4 12 100 M10x115 1 ,638 
TRR221 ORS58 518 Il x 318 Il 1081 15 8,5 14 15 100 M12x1 .75 1 ,515 
TRR221 ORD58 518" x 318" 1082 15 16.75 14 ,5 100 M12x1 .75 11811 
TRR221 ORT58 120 480 5/8" x 318" 1083 15 25 14 ,5 100 M12x1 .75 2,088 
TRR221 ORS34 314 Il x 7/16" 1281 15 1 1 14 5 ' 100 M12x1 .75 1 .713 
TRR221 ORD34 3/4 Il x 7 116" 1282 15 20.7 14 ,5 100 M1 2x1 75 l 2 ,748 
TRR221 ORT34 314" x 7/16" 1283 15 3015 14 ,5 100 M12x1 .75 2 .712 
TRR2210RS1 1" x 17 m\m 1681 13 12,5 14 ,5 100 M12x1 .75 2 ,138 
TRR2210RD1 1" x 17 m\m 1682 12 29,8 14 15 100 M12x1 .75 2 1808 
TRR2210RT1 1" x 17 m\m 1683 12 4518 14 15 100 M12x1 .75 3 ,608 
TRR221 ORD114 1 Il 1 l 4 x 314 Il 2082 9 32 14 ,5 100 M12x1 75 l 21755 
TRR221 ORD11 2 1"112 x 1" 2482 9 

l 
45,5 14 ,5 100 M12x1 .75 3 1883 

TRR2 RS-RD-RT 218 
l 

NEWTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH COD A 8 c M Kg PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAINE DENTS 
TRR221 BRS38 3ta" x 7 /32" 0681 15 615 12 100 M10x115 11309 
TRR2218RD38 3ta" x 7 /32" 0682 15 1115 12 100 M1 Ox115 1 ,374 
TRR2218RT38 3ta" x 7 /32" 0683 15 16,5 12 100 M10x115 11439 
TRR221 BRS12 112" x 5/16" 0881 15 65 ' 12 100 M10x115 1 ,382 
TRR2218RD12 112" x 5116" 0882 15 13.45 12 100 M10x115 1 ,523 
TRR2218RT12 112" x 5116" 0883 15 20.4 12 100 M10x115 11669 
TRR221 BRS58 5/8" x 3/8" 1081 15 8,5 14 ,5 100 M12x1 .75 1 ,546 
TRR2218RD58 518" x 318" 1082 15 16.75 14 5 ' 100 M12x1 .75 1 ,842 
TRR221 BRT58 120 480 

5/8 Il x 318 Il 1083 15 25 14 ,5 100 M12x1 .75 2,119 
TRR2218RS34 3/4 Il x 7116 Il 1281 15 815 14 ,5 100 M12x1 .75 1 ,744 
TRR221 BRD34 3/4" x 7 116" 1282 15 18125 14 ,5 100 M12x1 .75 2,779 
TRR221 BRT34 314 Il x 7/16" 1283 15 28 14 ,5 100 M12x1 .75 2.743 
TRR221BRS1 1" x 17 m\m 1681 13 10 14 ,5 100 M12x1 .75 2 ,169 
TRR221BRD1 1" x 17 m\m 1682 12 2713 14 ,5 100 M12x1 .75 2 ,839 
TRR2218RT1 1" x 17 m\m 1683 12 43,3 1415 100 M12x1 .75 3 ,639 
TRR221 BRD114 1 Il 1 l 4 x 314 Il 2082 9 29,5 14 ,5 100 M12x1 .75 2 .786 
TRR2218RD112 1"112 x 1" 2482 9 38 14 .5 100 M12x1 .75 3 ,914 

l 
TRR221 BRD134 1"314 x 1"1 14 2882 9 4611 14 ,5 100 M12x1 75 l 5,959 

TRR2 RS-RD-RT 227 

NEWfON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH COD A 8 c Kg M PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAINE DENTS 
TRR2227RS58 518" x 318 Il 1081 15 8,5 14,5 130 M12x1 .75 11823 
TRR2227RD58 5/8" x 3/8" 1082 15 16.75 14 .5 130 M12x1 .75 21119 
TRR2227RT58 5/8" x 318" 1083 15 25 14 ,5 130 M12x1 .75 2 ,396 
TRR2227RS34 3/4 Il x 7 116" 1281 15 8,5 14 5 l 130 M12x1 .75 2 ,021 
TRR2227RD34 3/4" x 7/16" 1282 15 18,25 14 ,5 130 M12x1 .75 31056 
TRR2227RT34 120 380 314" x 7 116" 1283 15 28 14 ,5 130 M1 2x1 .75 3 102 
TRR2227RS1 1" x 17 m\m 1681 13 10 14 .5 130 M12x1 .75 2.446 
TRR2227RD1 1" x 17 m\m 1682 12 2713 14 ,5 130 M12x1 .75 3 1116 
TRR2227RT1 1" x 17 m\m 1683 12 43,3 14,5 130 M12x1 .75 3 ,916 
TRR2227RD1 14 1 Il 1 l 4 x 3/4 Il 2082 9 2915 14 ,5 130 M12x1 .75 3 ,063 
TRR2227RD11 2 1"112 x 1" 2482 9 38 14 ,5 130 M12x1 .75 4,191 

1 
TRR2227RD134 1 "314 x 1 "1 14 2882 9 46,1 14 ,5 130 M12x1 .75 6,236 

TRR2 RS-RD-RT 210 

NEVVTON 
PASSO CATENA DENTI 
CHAiNpiTCH 

eOD IDI~TESI A 8 e M Kg 
PASO DE LA CADENA 

MIN MAX 
PAS DE LA CHAìNE DENTS 

TRR2210RS38 318" x 7(32" 0681 15 6,5 12 100 M1 Ox1 ,5 14 
TRR2210RD38 318" x 7(32" 0682 15 114 12 100 M10x1,5 1 

~'~ ~,~~~ ~ 1~ 1~ 1~ M'~ .2. 1 
6,5 1,351 TRR2210RS12 M10x1,5 

TRR2210RD12 1/2" x 5/16" 0882 15 13,45 12 100 M10x1,5 1 
TRR2210RT12 1/2" x 5/16" 0883 15 204 12 100 M10x1,5 1 

M12x1,75 TRR2210RS58 518" x 318" 1081 15 8~ 14 100 1 1 
TRR2210 058 518" x 318" 1082 15 16,75 100 M12x1,75 
TRR2210RT58 120 480 518" x 318" 1083 15 25 14,5 100 M12x1,75 2" 
TRR2210RS34 3/4" x 7/16" 1281 15 1 1 14 100 M12x1 75 1~~ 
TRR2210RD34 3/4" x 7116" 1282 15 20 100 M12x1,75 
TRR2210RT34 3/4" x 7/16" 1283 15 14 100 M12x1,75 
TRR2210RS1 1" x 17 m\m 1681 13 124 100 M12x1,75 21 
TRR2210RD1 1" x 17 m\m 1682 12 29,8 14,5 100 M12x1,75 2 
TRR2210RT1 1" x 17 m\m 1683 12 45.ft- 14 100 M12x1 75 3 
TRR2210RD114 1"1/4 x 3/4" 2082 9 100 M12x1,75 2~ 32 
TRR2210RD112 1 "1/2 x 1" 2482 9 452- 14..2. 100 M12x1 75 3 

TRR2 RS-RD-RT 218 

NEVVTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH 
eOD A 8 e M Kg 

PASO DE LA CADENA ~ MIN MAX PASi5E LA CHAìNE 
TRR2218RS38 318" x 7(32" 0681 6,5 12 100 M10x1,5 1 
TRR2218RD38 318" x 7(32" 0682 15 1 1 12 100 M1Ox1,5 1,37, 
TRR2218RT38 318" x 7(32" 0683 15 12 100 M10x1,5 1~ 
TRR2218RS12 1/2" x 5/16" 0881 15 6~ 12 100 M10x1,5 1 

IG:' x~ 
1/2" x 5/16" ~ 1~ 1~ 1~ M ..g.x· .2. 

M10x1,5 1 " 
TRR2218RS58 518" x 318" 1081 15 8,5 14 100 M12x1 75 1 
TRR2218RD58 518" x 318" 1082 15 16,75 100 M12x1,75 1 

120 480 
518" x 318" ~3 15 25 144- 100 M12x1 ~ 2 11 
3/4" ~ /16" 5 8,5 100 ~12x ' , 

11t 3/4" x 7/16" TRR2218RD34 1282 15 18,25 100 M12x1,75 
TRR2218RT34 3/4" x 7/16" 1283 15 28 14 100 M12x1 75 ;~ TRR2218RS1 1" x 17 m\m 1681 13 10 100 M1 2x1,75 
TRR2218RD1 1" x 17 m\m 1682 12 27,3 14 100 M12x1,75 2 
TRR2218RT1 1" x 17 m\m 1683 12 43~ 100 M12x1,75 3 
TRR2218RD114 1 "1/4 x 314" 2082 9 29,5 14,5 100 M12x1,75 2 
TRR2218RD112 1 "1/2 x 1" 2482 9 38 14 100 M12x1 75 ~~' 

M12x1.2§. TRR2218RD134 1 "3/4 x 1 "1/4 2882 9 461 100 5~ 

TRR2 RS-RD-RT 227 

NEVVTON 
PASSO CATENA DENTI 

CHAIN PITCH TEETH 
e OD A 8 e M Kg 

PASO DE LA CADENA IDIEI\ fESI 
MIN MAX 

PAS DE LA CHAìNE DENTS 
I~ B.5 130 1M'12x J5 ~x~ fOB1 J 1, 
TRR2227RD58 518" x 318" 1082 15 16,75 130 M12x1,75 2 11 
TRR2227RT58 518" x 318" 1083 15 25 14 130 M12x1,75 2 
TRR2227RS34 3/4" x 7/16" 1281 15 8,5 130 M12x1,75 2~1 

3/4" x 7116" 15 18,25 144- M12x1 75 3 

T '7" ~ ~ x r/~ 1~ ~ I M '~x1~ 120 380 1'l4 
1681 14,5 130 M12x1,75 2 TRR2227RS1 1" x 17 m\m 

TRR2227RD1 1" x 17 m\m 1682 12 27,3 14 130 M12x1 75 3 11 
TRR2227RT1 1" x 17 m\m 1683 12 43~ 130 M12x1,75 3~ 

1 "1/4 x 3/4" 
~~ t 

14 
Wo M~X1,~ 29 3 

D 12 '" /2 1< " 14 M' ~ x ' , 41 
TRR2227RD134 1 "3/4 x 1 "1/4 2882 9 461 14 130 M12x1 75 6 -

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



-• 
CON ROCCHETTO DENTATO 
WITH SPROCKET F"ARMA - :tTALV , 
AVEC PIGNON DENTE - , 
CON PINON DENTADO 

,/ 
/ 

l 
l 

l 
• . 
l 

/ -NE\ITDN 
~ 

~. ·""'· =, . ·-'"' / '):•.· ., ; ,.,. .• 

(,~ ··,_._ :,~'··~ ! .,. .... -?'' . / ........ ) 
. {", \ ': ,· .·. l' 1\ . ' . . ~ ,. . . . . .. J' ,, ,Jf:::::===t===::::::lL . ~. .. . " ·' .· . . . . . ~ .. . ' . , . \. . . ~ 

-

"".. .. , .l .~ .:· 
' ·. . / # 
\. ' ·· i ,. .. / 

··~ ' ·' . / . -.~· 
~-, / i ' 

~ .:· 
\. 

\ ,, 
~ --\. 

48- - -

.. 
~ 

# 

, 
~ ,. 

.. 

c 

1 1 
16 

30 

J 

NEWTON PASSO CATENA 
CHA IN PITCH 

-• " 

.. l 
~;w 

ACCIAO ZINCATO 
ZINC-COATED STEEL 
ACIER ZINGUÉ 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 
ALUMINIO 

TB1 115 
DENTI 
TEETH 

; 

• • 

l 

COD A 8 c PASO DE LA CADENA DIENTES MIN MAX PAS DE LA. CHAINE DENTS 
TR8111 5AC38S 318" x 7 132" 0681 21 60 7 215 
TR81 11 5AC38D 318" x 7 132" 0682 21 60 6 2 
TR81 11 5AC12S 30 175 112" x 5/16" 0881 16 60 7 215 
TR81 11 5AC12D 112" x 5/16" 0882 16 60 6 2 
TR81 11 5AC58S 518" x 318 Il 1081 17 60 7 215 
TR81 11 5AC58D 518" x318" 1082 17 60 7 215 

D E 

64 8 
64 6 15 
64 8 
64 6 15 
64 8 
64 8 

{AC) 

l l i l l 

H 

• • 
l 

22 .4 - 3316 
21 -36 

22 .4 - 3316 
2215- 34 15 
22 .4 - 3316 
2519- 3011 

+TE:DENTI TEMPRATI -HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPLADOS 
TR81 11 5AC38STE 318" x 7 132" 0681 21 60 7 215 64 8 22 .4 - 3316 
TR81 11 5AC12STE 30 175 112" x 5/16" 0881 16 60 7 215 64 8 22 .4 - 3316 
TR81 11 5AC58STE 518 Il x 318 Il 1081 17 60 7 215 64 8 22 .4 - 3316 

TB1 118 

NEWTON 
PASSO CATENA DENTI 

CHA IN PITCH TEETH COD A 8 c D E H PASO DE LA CADENA DIENTES MIN MAX PAS DE LA CHAINE DENTS 
TR8111 8AC38S 318" x 7/32" 0681 21 70 7 215 78 8 26 .4 - 4616 
TR81 11 8AC38D 3/B" x 7/32" 0682 21 70 6 2 78 6 15 25- 49 
TR81 11 8AC12S 30 175 112" x 5/16" 0881 16 70 7 215 78 8 26 .4 - 4616 
TR81 11 8AC12D 112" x 5/16" 0882 16 70 6 2 78 6 15 2615- 4715 
TR8111 8AC58S 518 Il x 318 Il 1081 17 70 7 215 78 8 26 .4 - 4616 
TR8 111 8AC58D 5/8 Il x 318" 1082 17 70 7 215 78 8 2919- 4311 

+ TE:DENTI TEMPRATI-HARDENED TEETH-DENTS TREMPEES-DIENTES TEMPLADOS 
TR81 11 8AC38STE 318" x 7/32" 0681 21 70 7 215 78 8 26 .4- 4616 
TR8111 8AC12STE 30 175 112" x 5/16" 0881 16 70 7 215 78 8 26 .4 - 4616 
TR81 11 8AC58STE 518"x318" 1081 17 70 7 215 78 8 26 .4 - 4616 

--, E -
-

'"'"t--Q- ..... ·=:l-- f- - --+-.. 

o -·, 

M Kg 

M12x1 ,75 01888 
M1 Ox1 15 0 1997 
M12x1 .75 0 1913 
M1 Ox1 15 1 1072 
M12x1 .75 1 l 107 
M12x1 .75 1 1593 

M12x1 .75 01888 
M12x1 175 0 1913 
M12x1.75 1 1107 

M Kg 

M12x1.75 01923 
M1 Ox1 15 1 1036 
M12x1 .75 0 1947 
M1 Ox1 15 1 11 1 1 
M12x1 .75 1 l 142 
M12x1 .75 1 1628 

M12x1.75 01923 
M12x1 .75 0 ,947 
M12x1 .75 1 1142 

< 
" 

, 
• , 

- - 40 --, 

eOD 

eOD 

, 
I 

I 

~ 

, , 

-• 
CON ROCCHETTO DENTATO 
WITH SPROCKET , 
AVEC PIGNON DENTE - , 
CON PINON DENTADO 

/ -NEliTDN 

, 

" '. 

• 
" 

, , 

ACCIAO ZINCATO 
ZINC-COATED sreEl 
ACIER ZINGUÉ 
ACERO CINCADO 

ALLUMINIO 
ALUMINIUM 

- ~ :5- -, .. 

NEWTON 
A 8 e D 

MIN MAX 

7 

30 175 
112" x 5/16" 0882 16 60 

+ 

30 175 

PASSO CATENA DENTI NEWTON 
CHA IN PITCH 

A 8 e D 
MIN MAX 

30 175 
112" x 5/16" 0882 

+ 

30 175 

Parma ITALY 

(AC) 

E H M Kg 

E H M Kg 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



45 

NEVTD~-._ ,... ....... .. ' ·" ' • • 

/ ' . . 
\ • -\ • • 

\ 
• • 
\ 
• • 
\ . -

. ...... . • 
i \ ~ . . ( -.. 

\ 

\ 

l 
l 
\. 

-• 
\ . 
• 
\ -• 

\ 

COD 

. . 
\ 

TR 82218AC38 S 
TR 82218AC38 D 
TR82218AC12S 
TR82218AC12D 
TR 82218AC58 S 
TR 8221 8AC58 D 

. 
\ 

TR82218AC38 S T E 
TR82218AC12STE 
TR 82218AC58 S TE 

COD 

TR82227 AC38S 
TR82227AC12S 
TR82227 AC58 S 
TR82227 AC58 D 
TR82227 AC34S 
TRB2227 AC34D 
TR82227 AC 1 S 
TR82227AC1 14S 

TR82227 AC38ST E 
TR 82227 AC 12 S TE 
TR82227 AC58STE 
TR82227 AC34STE 
TR82227AC1 STE 

l . 
• 

-• 
CON ROCCHETTO DENTATO 
WITH SPROCKET , 
AVEC PIGNON DENTE - , 
CON PINON DENTADO 

• . 
l 
• -l 

• -

' . . 
l . 

.. 
... .... 

- l 

l 

_ ... 
l 

i 

~ · 
- l"'" 
-~ ..... 
-~ 

i B" 

t======~/ 
. 

l 
• • -

\ • • 
\ • 

-~~ 

N EVVTON 

MIN MAX. 

120 480 

.. 
120 480 

NE\1\/TON 

MIN MAX. 

120 380 

l 

l . 
• 

l 
• • 

t 

l . 

·~ 
·~ 

l . 
• 

l . • 

l 

PASSO CATENA 

PASO D E LA CADENA 

318" x 7/32" 0 681 
318" x 7 /32" 0682 
1/2." x 5/16" 0 881 
1/2." x 5/16" 0 882 
518" x 318" 1081 
518" x 31B" 1082 

318" x 7 /32" 0 681 
1/2." x 5/16" 0 881 
518" x 318" 1081 

PASSO CAT ENA 
C HAIN P IT C H 

PASO DE LA CADENA 
PAS DE LA E 

318" x 7 /32" 0 681 
1/2." x 5/16" 0 881 
518" x 318" 1081 
518" x318" 1082 
3/4 " x 7/1 6" 1281 
3/4 .. x 7/1 6" 1282 
1" x 17 m\m 1681 
1"1/4 x3/4" 2081 

l 5 

2 .5 

TRB2 2 18 

A 

21 70 
21 70 
16 70 
16 70 
1 7 70 
1 7 70 

21 
16 
1 7 70 

TRB2 2 27 
DENTI 
TEETH A DIENTES 
DENTS 

21 100 
16 100 
1 7 100 
17 100 
15 100 
15 100 
12 100 
9 100 

8 c 

7 25 
6 2 
7 25 
6 2 
7 25 
7 25 

7 25 

8 c 

7 25 
7 25 
7 2 
7 2 
7 25 
7 25 
7 25 
7 2 

ALLUMINIO 
ALUMINIUM 

D E 

78 8 
78 6 
78 8 
78 6 
78 8 
78 8 

78 
78 

D E 

1 0 7 8 
107 8 
107 8 
107 8 
107 8 
1 0 7 8 
107 8 
107 8 

F"ARMA - :tTALV 

{AC) 

.. 
•• 

c 
~~~ ,; 

-- l --1-1 

• 

H 

26 -46 
25-49 

26 - 46 
26 -47 
26 4 - 46 
29 -43 1 

26 - 46 
26 4 - 4 6 
26 -46 

H 

25 4 -74 
25 4 - 74 6 
25 -74 
28 - 71 1 
25 4 -74 
31 -68 
25 -74 
25 -74 

• 
l. ~~-­

~ : :::::~~ 

t--f l ~ ~ 
• 
i • 

'=='l l J 

-

• • 
l 

L 

100 
100 
100 
100 
100 
100 

100 
100 
100 

L 

130 
130 
130 
130 
130 
130 
130 
130 

ACCIAO ZINCATO 
ZINC-COATED STEEL 
ACIER ZINGUÉ 
ACERO CINCA DO 

M Kg 

M12 x 1 75 1 462 
M10x1 1 575 
M12x 1 75 1 486 
M10x 1 1 
M12x1 75 1 681 
M12x 1 75 2 167 

M12x 1 75 1 462 
M 12x1 75 1 
M 12x1 75 1 681 

M Kg 

M12x 1 75 1 76 
M12x 1 75 1 784 
M 12x1 75 1 979 
M 12x1 75 2 466 
M 12x1 75 2 0 87 
M12 x 1 75 2 712 
M 12x1 75 2 362 
M12 x 1 75 2 326 

+TE: DENTI T E MPRATI -HARDEN E D T E ETH -DENTS TRE MP E S-O I E NTE S TEMPLADO S 
318" x 7/32" 0 681 21 100 7 25 1 0 7 8 25 -74 130 M 12x 1 75 1 76 
1/2." x 5/16" 0 881 16 100 7 25 107 8 25 -74 130 M12x 1 75 1 784 

120 380 518" x 318" 1081 1 7 100 7 25 107 8 25 4 -74 130 M12x 1 75 1 979 
3/4"x7/16" 1281 15 100 7 25 107 8 25 4- 74 130 M12x 1 75 2 0 87 
1" x 17 m\m 1681 12 100 7 2 107 8 25 -74 130 M 12x1 75 2 

I , I 
_ .( 

\ 
\ 

\ 
, 

\ 

\ 
• 

e oo 

e oo 

l'I' --IZ 

N EVVTO N 

M ' N M AX 

120 48 0 

120 48 0 

N EVVTO N 

120 380 

+ 

120 380 

/ , 

/ , 
I I \ . ,.. ~ 

/" , , 
• , 

" 

-• 
CON ROCCHETTO DENTATO 
WITH SPROCKET 

• 
AVEC PIGNON DENTE - . 
CON PINON DENTADO 

, , . 

" • • I 
• • 

I 
• • 

I 
• • 

I -• 
I 
• , 

I 

I -
I 

A B 

A B 

e 

e 

ALLUMINIO , , 
ALUMINIO 

o E 

o E 

Parma 

(AC) 

H L 

H L 

ITALY 

, , 
ZINC-COATEO srEEL 
ACIER ZINGUÉ 
ACERO CINCADO 

M K g 

M Kg 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



1~ r ~ 
) 

l :cio 
~.s-

-
5 ~ 

3 ~.~ - ~ --
.... ·-
COD 

LEVATR11065 
LEVATR11 085 
LEVATR110105 
LEVATR110125 
LEVATR111 85 
LEVATR1111 05 
LEVATR111125 
LEVATR115105 
LEVATR115125 
LEVATR11 8105 
LEVATR11B125 

-

130 

r--- 39 -~ 

1-4 ,5 

6 

' 

LEVE - LEVER 

PALANC A S - LEVIERS 
11 0 
11 o 
11 o 
110 
1 1 1 
1 1 1 
1 1 1 
11 5 
11 5 
118 
11 8 

1 ~ 

1 .1 o 

3 ;;,5 

J 

-

r ~ 

'" ~ 

-6.~r-

-

- ~ ..,.. 

·-·-

D (Ql) 

6,5 
8,5 
10 5 • 
12 5 • 
85 • 
10,5 
12 5 • 
10 5 • 
12,5 
10 5 • 
12,5 

ZE 
PARMA - :tTALY 

ACCIAO ZINCATO 
ZINC-COATED STEEL , 
ACIER ZINGUE 
ACERO CINCADO 

~f-

26 J 
-,s r 

12 ,5 

J J ' 

--
'*-~ ! 

se: ,5 

L 
..,tJ 

1-4, , 
1- / i 

1 
l 

56 
64 

r- l 1-

... ' i i 

Kg 

0,167 
o 167 • 
0 ,1 67 
o 167 • 
0,164 
0 ,164 
0 ,1 64 
0,215 
0,215 
0 ,243 
0,243 

1 

1 

, 
1~,5 

3,.5 

32 

.32 

•• 

'--- -4,. -

eGO 

-

l ' -
- " 

130 BO 

3 .s , 

-

39 - , -; .~- 15 
I I 

48.5 

L 

1.7.5 

I 

• .-
, , 

LEVE - LEV ER 

PALANCAS - LEVIERS 

, 

1 

3 

I 

:.----l ____ """"""O1 1 S ___ _ 

,5 

-

_. • 

[} 

O (121) 

10 

Parma ITALY 

ACCIAO ZINCATO 
ZINC-COATED STEEL 

• 
ACIER ZINGUE 
ACERO CINCADO 

I 

124.5 

s. •• 

I 
I I I 

53 

-l~-

5 ,. 

1047.:5 

-. , 

5. .-
I , , , 

Kg 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



ACCIAO ZINCATO 
ZINC-COATED STEEL , 
ACIER ZINGUE 
ACERO CINCADO 

COD 

210 

., 

-

.-- r-

1-

~ 
1 

7 

~ 

.... 

-• 

LEVE- LEVER 

227 
1 , .. 

7 > 

~ 

17 

E D 

PALANCAS - LEVIERS 
D (0) 

LEVATR210105 210 1 o .5 
LEVATR210125 210 12.5 
LEVATR218105 218 1 o .5 
LEVATR218125 218 12,5 
LEVA TR227125 227 12.5 

ZE 
PARMA - :tTALY 

-

218 
"'" -.- __,, r-

r-
1-

~ 
"""" ,. lj 18 

~ 7 

~ 

.... 

l7 r--

L - 11 13 

Kg 

0,335 
0,335 
0,366 
0,366 
0,643 

. o 

ACCIAO ZINCATO 
ZINC-COATED STEEL , 
ACIER ZINGUE 
ACERO CINCADO 

o 

I 

eoo 

-

210 

,., 
.- -----. 

I 

• I 

o 

LEVE - LEVER 

Parma 

-

218 

o 

227 
,----7 ----, 

l7 
.------- -----. 

I 

o 

P ALANCAS - LEVIERS 
0(0) Kg 

LEVATR210105 210 10,5 0,335 
LEVATR21 0125 210 12,5 0,335 
LEVATR218105 218 10,5 0,366 
LEVATR218125 218 12,5 0,366 
LEVATR227125 227 12,5 0,643 

ITALY 

I • 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



, 
METODO 1 METODO 1 , 

ETHOD 1 ETHODE 1 

Per tutti i tenditori serie TR , anche composti da pulegge e\o testa in polietilene. 
-

Allentare bullone A. 
Ruotare esagono B fino a raggiungere la tensione desiderata. 

------
Serrare il bullone A senza rilasciare esagono B. ----------
Liberare esagono B. 

Forali the tensioners TR also the one including pulleys or polyethylene head. -
Loosen the bolt A. 
Rotate the hexagon B as much as to get the right tension. 

-------
Tighten the bolt A without release the hexagon B. 

----------
Release the Hexagon B. 

Para todos los tensores TR tambien aquellos con poleas o cabeza en polietileno. 
Aflojar 
Hacer 

Serrer 
hexagone 

ZE 
F»A~MA - :tTALY 

A 

, 

METODO 1 
METHOD 1 

METODO 1 , 

METHODE 1 

B 
Per tutti i tenditori serie TR , anche composti da pulegge e\o testa in polietilene. 
Allentare bullone A. 
Ruotare esagono B fino a raggiungere la tensione desiderata. 
Serrare il bullone A senza rilasciare esagono B. 
Liberare esagono B. 

For ali the tensioners TR also the one including pulleys or polyethylene head. 
Loosen the bolt A. 
Rotate the hexagon B as much as to get the right tension. 
Tighten the bolt A without release the hexagon B. 
Release the Hexagon B. 

Para todos los tensores TR tambien aquellos con poleas o cabeza en polietileno. 
Aflojar 

Serrer 
hexagone 

Parma ITALY 

A 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



ETODO 2 
ETHOD 2 

, 
ETODO 2 , 
ETHODE 2 

Per tutti i tenditori serie TR , anche composti da pulegge e\o testa in polietilene. 

ZE 
F»A~MA - :tTALY 

B 
- -

Allentare bullone A ( Il bullone A deve avere un diametro inferiore al foro dell'esagono B. Es:TR1 08 • TR2 010). -
Ruotare esagono B fino a raggiungere la tensione desiderata. 
Serrare il bullone A senza rilasciare esagono B. 
Liberare esagono B. 

Forali the tensioners TR also the one including pulleys or polyethylene head. 
-

Loosen the bolt A ( The bolt must have a diameter lower then the hexagon bore B. Ex TR1 08 TR2 010). - --
Rotate the hexagon B as much as to get the right tension. 
Tighten the bolt A without release the hexagon B. 

----------------
Release the hexagon B. 

Para todos los tensores TR tambien aquellos con poleas o cabeza en polietileno. 
-

Aflojar el perno A (el perno tiene que haber un diametro inferior que aquello de lo hexagono BEs TR1 08 TR2 010). -
Hacer girar el hexagono B hasta obtener la tension que se desea. 
Fijar el perno A sin desembragar el hexagono B. 

-----------------
Desembragar el hexagono B. 

Pour tous les tendeurs TR aussi ceux avec poulies ou t et e en polyéthylène. 
-

Desserrer le boulon A ( le boulon doit avoir un diamètre inférieur à celui de l'hexagone B Es TR1 08 TR2 010). -
Pivoter l'hexagone B jusqu'à obtenir la tension désirée. --------------
Serrer le boulon A sans livrer l'hexagone B. 

------------------
Livrer l'hexagone B. 

METODO 2 
METHOD 2 

, 

METODO 2 , 

METHODE 2 

Per tutti i tenditori serie TR , anche composti da pulegge elo testa in polietilene. 
Allentare bullone A ( Il bullone A deve avere un diametro inferiore al foro dell'esagono B. Es:TR108 • TR2 010). 
Ruotare esagono B fino a raggiungere la tensione desiderata. 
Serrare il bullone A senza rilasciare esagono B. 
Liberare esagono B. 

For ali the tensioners TR also the one including pulleys or polyethylene head. 
Loosen the bolt A (The bolt must have a diameter lower then the hexagon bore B. Ex TR108 TR2 010). 
Rotate the hexagon B as much as to get the right tension. 
Tighten the bolt A without release the hexagon B. 
Release the hexagon B. 

Para todos los tensores TR tambien aquellos con poleas o cabeza en polietileno. 

Parma 

Aflojar el perno A ( el perno tiene que haber un diametro inferior que aquello de lo hexagono B Es TR1 08 TR2 010). 
Hacer girar el hexagono B hasta obtener la tension que se desea. 
Fijar el perno A sin desembragar el hexagono B. 
Desembragar el hexagono B. 

Pour tous les tendeurs TR aussi ceux avec poulies ou tete en polyéthylène. 
Desserrer le boulon A ( le boulon doit avoir un diamètre inférieur à celui de l'hexagone B Es TR1 08 TR2 010). 
Pivoter l'hexagone B jusqu'à obtenir la tension désirée. 
Serrer le boulon A sans livrer l'hexagone B. 
Livrer l'hexagone B. 

ITALY 

Fisatech s.r.o., Hlavná 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk




